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A3wen!

(Probability)

**Where a mathematical reasoning can be had, it is as great a folly to
make use of any other, as to grope for a thing in the dark, when
you have a candle in your hand. — JOHN ARBUTHNOT %

16.1 shar
yfast St a3t feg wirt Ag=aT ©f HasusT & fds Afaghit &t niferfessT
T vy € gu 29 ufgmr 31 vt foi ui & Hee 3 fea fams wfwnr yuzs
ﬁsﬁﬁ?@wgwlwaﬂﬁﬂ%|f§ﬁﬁsﬁ?&3m12345m§6
&5 | wesT ‘fea fang Afver yrug 9’ € wigas &3+ 24,6 (< 3
Aftmiret) I8 | fenmua gu 3 fam wesT €t AgreaT U™ J9s &et it wesT
T "ag® 3t T At T7 g8 a3t &t Afterr € 578 vigus usT
Foe It | He=aT € fen fAufs § He=ar @ yareT fAuf3 (classical theory of
probability) faam #7eT I |

M3 3T fSg vt Heesr § Yue w3 fEa3as »iafant € M9 3

U3 qgaT fifur I | fend HeresT v wiggT fefomifsa femetae (statistical Kolmogorov
approach) dfde T7| (1903-1987)

feat €< fAuf3t feg gy digte mifmr=’ g5 | Gegae € 39 '3 feust a3t § Gust yGar 3
&4t SarfomT A7 AaeT J fagst fe9 Agfea s3tfmdt et dftmret wmisg debnt g5 | uare faarg
feg »t Herfez a3tfmrt & M Age Haw o7 oe 99 fa a3t § A Aee faor AT I A
mwkﬂwm@aﬁmwﬁéhmmamwéwwywmw
Fr‘aETfe—v' it feg Hae 7 fa A &3t © wfes 3= <, Aer=aT mims 31 ferr set vt Herea
& ufgsfmzs d9s Bt AW Age a3t e feraws a3 91 feg 39 femet 3 sta ufggmr &t J1
fer &€t gu € arfezar AN, Kolmogorov & fe 39 Her=ar fAuiz & feamw di37| Guat & 1933 <9
Iegi-c WSt URS ‘AgresT @ ward’ (Foundation of Probability) f&g AgreaT &t femmfymr et
¥ wew 39 fagufas 13 | fen mifrrfe fT wint Agear © fen fenelde, fAng He=sr @
Héﬁuﬁmmm,?mmlﬁﬂfqmﬁasgmwg?wwgﬁw@
J fAe fa g9ty YGdr (Random Experiment), Z&at AHT (Sample Space) Wea™=T (Events) ucl
WG fegaT € g9 »igl WMeT =8 gar 9 »iftis Fdie |
16.2 ¥33931E y&ar (Random Experiments)

»H frieait f<e »rt fed fag aet dv Jae I fAgsT € &3te onnt fea 9t 3¢ 9% 979 Gust & fdat =<t
St guarfenr A< | §Egde Bt fan €3 f3gm € def &7 0® &7 Aree 98 <t wint ferfes gu 3 afg
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Aae IF fa d=t &7 73 180° I=ar | mHT fen yara & <t €t yait I Jde JF fAgst § s Afaghit
feg guae 3 & 537 o €5 fagr 59t ger 91 Geruae wet Ae fea fifa § Qe mer g 37
fg3 (head) W™ AETET T AT Ue (tail) M AaeT I Udg wAt feg fonfes adt a9 mae of fa emsfex
a3t fegt g=f &S ot g=ar ? few yare € Wfume & g393te yGer fagr Aer J1

fem et f€a ytiar & g393t ydar faur AT g Aa9 fev Jo feut € st § Hawe aoer ¢

() feme &g 3 U A< &3H I |

(i) Ulftmie € yas I 3 ufost 53T ©AeT He= &7 I= |

A9 a9 fa & U & He< & yGar §39319 I A &1 ?

fer mftmrfe feg fea g393te yGar & d=s ywar fagr Ifemt T A< 3 fa 39 397 fenas av
Figr dfenr 3= |
16.2.1 33" #3 Saai HHT (Outcomes and sample space) fan g333te yGiar € fan dg= a31H &
&3tAT afde I&5 |

feq U™ Hee © yGar 3 fegm9 ad | Aag »rt uH € Qudt esa 3 #ifazs fdgmt & Afterr g get
JUe IF 3T YW € 531 1, 2,3, 4, 57T 6 I& | AT 31T €T AHT {1, 2, 3, 4, 5, 6} few ydiar e S&ait
AT FaTgET J1

fem et foam §393tT Yaiar € A9 Agw a3t & AT ©F yGiar e Eadit iyg gor@er 9| S&ait
AHT & a3 S It yare aisT Arer J1

2591t AHT €7 994 AT e Saqit fig aur@er 71 gx ruet <9, §39319 yuar € 39d &3tar &t
a4t fdg suger J1

g g% Gergast 3 fegg adte |
Eemee 1 : € fiffont (e T 1 v w3 gar T 2 v § foa =9 Qefonr fopur 91 <&t iy usT a9 |
7% : Ae 39 '3 fHa fen »iew <9 <4 95 fa mirt Qust & ufosT fifar w3 g7 fiar afa rae o faffa
gat fifamt &9 fam 3 fo3 (H) 7 ue (T) yare I Aaw I&, fen &et Age a3t J6 fou J Aae 05 ¢

o< fAfawt 3 f93 = (H,H) = HH

ufo® fid 3 feg »3 g7 3 ue = (H,T) = HT

ufa® fid 3 ue M3 g7 3 fe3 = (T, H) = TH

< fiffat 3 ue = (T,T) = TT

fem wet f&3 98 yGar € <&aft AT S = {HH, HT, TH, TT} J1

& Cust| y&ar @ 33t H M3 T € gHS'9 W & | Ad®3T ST gHST "o fe9 Afgs
nau-fea™ (comma) & 83 f&3T Ifemr T

Eewas 2 : U (dice) T 73 (A fSe fla s dor e nd gar si@ darev 9) & ffd 9 Hee ©
YT €7 F&4d1T AT U3 &4 | F&aiT AW € IR &t Afterr 1 U3 79|

1% : W& B8 fa &1& daT € UH 3 1 M3 &8 d9T € U™H (dice) 3 2 Ygle deT 7 | At fen 5311 § g
@I (1, 2) 34T fagfuz aae ot | fen ya'd Ad9 &1& UR 3 3 W3 &% UH 3 5 ydie der J, 3+ fen
53 & (3,5) gt fagfuz gae It
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fermus gu 3 99 33 & gHTT I (x, y) TT fagfuz a3 A7 AaeT I fE x 318 daT € U 3 M3
y B8 UH 3 ydic I BT Afunret g5 | fen Bet, ot Ay Js g 95 -
S ={(x, y) : x 31F UH I Hitpr™ T y B8 U I Ydie AT I}
fem Saait myg € ffrt & Fftm 6 x 6 = 36 T M a3t AYT It fE3T T

{(1,1),(1,2),(1,3), (1,4), (1,5), (1,6), (2,1), (2,2), (2,3), (2,4), (2,5), (2,6)

(3,1), (3,2), (3,3), (3.4), (3,5), (3,6), (4,1), (4,2), (4,3), (4,4), (4,5), (4,6)

(5,1),(5,2),(5,3), (5,4, (5.,5), (5,6), (6,1), (6,2), (6,3), (6,4), (6,5), (6,6) }
Gemee 3: Jo f&Y 99 Yudr BEt At a9l AHT €7 839 &9 :

() fago etagfeg fda T 1, ffa 3 2 w3 ffa T 5 € fia 95 | G0 must A9 9 & € gmie
fea © fia oger J1

(i) fea fomaat far femma aa Haar 3 ffa s f9 I =8t TowesT=T &f By foyer
JI
i : )He B8 1efMar Q3,2 e fAar H 3 w3 T 5 e fiar R 3 fagfuz ¢ o5 |1 Gne oot
H9 9 dfewr dfemr ufasT fifar f3a fitfort fes aet <t ffa fifar Q, H AT R § AgeT I ufdd fia Q
€ Ha13 gt =79 dfewr IfemT fifar H 7 R T AaeT 1 fen set € fiffamt € ufsen QH A7 QR T Farer
J | few yar, H € Har3 gdt 979 dfemT famrr fifar Q A R I AaeT J 1| fer ®et 33t HQ 3 HR T
AgeT I | fem et R € Harz gt §79 dfenr faprr fifar H A7 Q § Aaer 91 fem &gt ufge™ RH AT RQ
d<ar|
few ®et f5ait A¥T S = {QH, QR, HQ, HR, RH, RQ} J|
(i) for fema IAHTIaT 3 TawesT™=T &t AT 0 (fam gdwesT &7 3= 3) AT | AT 2 AF It S TSTIHT
Hyas Ffanr § AaeT J1
fem wet Wi e et AT S = {0,1,2,...} T
Gemae 4: &g fiar Qefenr Aer 71 799 87 3 93 yare 3= 37wt e &5t fam <9 3 st v
4 AR dret g5, f&9° i gre dew 9& | Ade fia 3 ue ygre de 7 37wt fea umr Hew ot | fem year
¢ &4t AHT €7 IS5 IT |
75 : s B »it 318t diet § B, B,, B, W3 A diet § W,, W,, W, W, 7% fagfug sae ot | fewr
yudr € a9t AYT S = (HB,, HB,, HB,, HW , HW,, HW,, HW , T1, T2, T3, T4, TS, T6} J1
fég HB, e »9g J fa fia 3 feg I M3 dre B A=t aet JI HW e"»igg I fa ffld S ue I w3 die W,
Jet aret I | few yae T, €7 #9u J fa a3 ue w3 Aftprm (Ui 3) i yare It I
Gemae 5: fEq feg fAg ywiar 3 feur a9 fan <9 f€a ffa & g9-g79 3w 3 Qefenr Afer J A
3q 93 yare &7 3= | feneT Eaait AMT 7 Tdes d9 |
J% : few ytar &9 ufost @ 7 ert G 7 3+ Qes »rfe &9 fan <9 <t yare 9 Aaer J1
fem st =ter <aait Ay S= {H, TH, TTH, TTTH, TTTTH,...} J1
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| mfenrm 16.1 |

I fou yrs 1 37 9 9da <9 Saait AT 3T J3d |

1

w N

wm A
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11.

12.

14.

15.

16

fea fia & f3s =t @erfemr fapur 1

e ymr & =at Hfewr faprr T

fea fiar 979 =vat e fapur T

fea fitar Qedemr fapur I W3 & U Hfewr fapur T

fear fitar QemfonT farur I w3 d=s €n o ST A< fifd 3 fo3 yare der I f&a umr dfewr
e 3

X 1T fE9 2 H3 W3 2 g3t 96 M3 Y and <9 1 W™ w3 3 g3t 95 | G ywiar €7 <&ait Ayg
U3 59 fan S5 ufad fea anEr gfewt ater J 39 fea g97 gfemm arer 31

& U™ %% da1 @7, feq Aew Jar @7 w3 8 99 U™AT 318 dar =T, §% 9 39 9¢ 95 | fieq umAT
g393tat &% gfen fapur mz @& wfew faprm I, uw & dar w3 fere Quad e&a 3 YUz »ia
& fafinm faprr 31 &9t AYT € <95 9|

fea ywiar &9 2 dfont =@ ufseet fes 93 ST Fad-Bzatt &F Aftpret & fafanm ater 71
(i) Aog Ast gt few ofs § e 99 9§ fa Aen € g feu 997 &3ar Af Szt I 3T Iaait AYT
gt g2 ?

(ii) 79 Ast got fan ufgers fEg szati &t At Frae feg § 3T Iaait myo ot 9=ar?
fea 39 f<9 1 378 W3 €T fAaghdt 3 AZE dret byt arEhdt I | € Jret fea 3 goe fia fast
yf3 AFEU3 13 9393t 5% Aedt Iet I8 | fel yGar € S&dit AHT UST &9 |

fea ytiar feg f&a fia & Qe Aer T W3 Aa9 €n 3 fo3 yae der T 37 Ené 39 Gefomr
Aer 1 79 ufast =t iR ue yuz der 9 3T fa umr Hfewr Aier 31 Saait AHg U3 a9 |

Vs 58 fa g9t € feq €9 <9 3 989 93931t 5% o€ A 95 | 399 989 & Fifonr 7er I w3
€ng yarg (D) A 3t (N) f&g Sfswr mrer I few yGer T Saait AT U™ 9 |
fex fiar @efemT AeT I Add a3tAT feg 3= 3T & ymAT Hfewr Arer I 799 UH 3 foa
frrs Fftr yare g€t 9 3T uR & 39 Hfewr wrer I fem ySar & <aqit u3T ad |

. I ET 979 ygeit 3 BftdT=T 1, 2, 3 M3 4 Y- fHt Irett 98 | fegst ygetit §

fea 39 fg du o Jait 3gt fizrfenT Sfemr 9| fea fenast 39 &5 € yga fea 3 gme g+t
faoT g8 deer J| fen yGar e <aait AT UST 9 |

fear ytiar feg fea umr wfewr Aier 3, fa9 UW 3 YUz ’ftwr famg T 3t fea fifar fea =9
Sefen 7T I 1 7d9 U 3 Yu3 At 2ig I 3T fAa & € =vdt Gerfenm ater 91 Saait Ang
U3 d9 |

fea fitar Qe famim| fag €7 3 ue yare der § 3t Eq 3% &< fam ffo 2 &% w3
3 BT gt 75, fEd die dew 97| #ad fia 3 fe3 yare der T 37 fea umr dfewmr arer J1
21T AHT YU IJ |

fea U & T9-T9 IT 3 Hen™ AT I 7€ 3T 6 Ygie &7 I A< | fon yGier @ S&ait AyT &t I?
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16.3 WIZST (Event)
wHT §3931 yGar M3 GAT Saait AHT € §79 ufgwr | faw yGiar e et Ayg €7 et s Adfug
A3 YH&T B8 Agefemmit AHT (Universal set) geT J1 fea ffa & € =9 Qeae € yar 3 feg9 ad|
Hefuz f&ait AT S = {HH, HT, TH, TT} |

e Ho 8 fa arst oot Qust s3ifrt feg I fAgs 39 € 39 3 93 Yare I © miaa® de 35|
wHT 8T I7 faq fem weasT € 9T € Mags S € I3 d=® HT »3 TH 75| feg € 33 fea miw
E = { HT, TH} 5=8< 75|

AT Aree It fa AYT E Sa9it T € Qu-myg J| fert 337 mit wT o fa fds-f9s wesr=t
wsg@u—wfe—u’wﬁw’rﬂma

WRET T TISH ‘S’ & Harz Qu-AHT
yet ot At slar € T A={TT}
yet ot Afgur wie-uie 1 9 B = {HT, TH, TT}
fegrdtdfimrsu I SU1 T C = {HT, TH, TT}
ort Qes fee fog a4t T D = { HT, TT}
fegratifimr S I sge g S = {HH, HT, TH, TT}
fegr St Aforr @ I 2T T o

€3 &3t gour 3 fev mime I fa <aait myT € fan Qu-myo € Harzs T wesr g<t I w3 fam
wesT € Harg Eaait Ay = ffa Qu-myo der I fene Fegy &9 fea wesr § Jo fou yag 3
ufggg stz Aier 31
ufegmr  <sait AyT S ©F JEt Qu-AyT e wesT adt At 1

16.3.1 féar wesT & wfex & (Occurrence of an event) €T UH § Hes € yGar 3 feua ad | s 36
far weaT ‘Ui 3 4 3 T At yare 37 § E &% fagfuz a3 7T J1 7d9 UH 3 »ins ST 1 yare
Jer 3T wiAT afg Aae I fa weaT E wfexg Jet 31 Add &31AT 2 AT 3 I 37wt Jfde I fa wes™ E
wfea Jet J|

fen st fam yser € <=9t AyT S € wesT E wfexs 3t aat 71t I #d9 y&ar € 534 w
few yaa T fa we Elmmwfwﬁwrzrfsrwe E 3t wt affe ot fa wesT E wizg st
T 7

16.3.2 W2ET=T & Yad (Types of events) WesT=r & Quat € fIfmit € mug 3 f9a-fds yarat feg
g A AaeT J1
1. mHsT M3 fonfes weset (Impossible and Sure Events) 4T&t AHJ ¢ W3 Faait AHT S =t
wes=t & fena3 Jae 76 | mAs ST ¢ § MAge wea™ w3 S 9= Yds Sadit AHT & ferfes wesT
Ffde g5 |

fegst & AHST et W@ U™ Hee € yuar 3 fegrg adte | few yGar e f&ait ’Hg S = {1, 2, 3, 4,
5,6} J1

H& B E weaT ‘UH 3 yare At 7 €7 gien 9 & fagfuzs ager J1 &t Int weaT E € Harg Qu-
Y f&y Aae I 7

AE 39 '3 YGaT € JET Tt 53T WesT E €T /a3t § HgHe &9t g9eT I 9T Iaait AYY €T JEt
&t 33 weaT E € wfezs I & fonfes st aoer I few sgt vt afs maw of fa aes v=t ayo ot
weaT E € Har3 AYY I gv muet &9, »it afg rae of fa uw € Qudt esa 3 7 &7 gieH yare g
mHge J1
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fem yarg weaT E = ¢ ff mirge weaT I
WG g wirt € 39 WesT F ‘U 3 Yu3 "y A 37 fAang T AF eia’ 3 fegg adie | g 39
'‘TF={1,2,3,4,5,6) =S, < A'd 5311 WeaT F € wfezs 9 & fanfes gae oo | fen et F=S f&a
forfes wear J1

2. Ha® WZ&ET (Simple Event) 7d9 fan weaT E f<T d=% £q ot aait fdg 92 37 wea™ E & Aas AF
HeH3t wesT afde 98 | fed faor yeiar fane €3 Saait myo <9 n Sy IR I< <9 n A weas=T &t
Je det 31
Geude wet, ftq fid € € B&s' @8 yGar € S&dit AHT
S={HH, HT, TH, TT} J|
feg fen S=ait AT St 979 AE® wea'et I8, fauaht d5 fedtnt os -
E = {HH}, E,={HT}, E;= { TH} W3 E,={TT}
3. fHAfas WesT (Compound Events) ﬁwﬁﬁw%ﬁa?éuémﬂfagﬁz?%ﬁmﬁ?
wesT Jfde 95| Gurgae wet fa fifa &t f3s Qe € yuar &9 Jo fedtnt west=t fimfes
wesTet I% ¢
E : ot féx fa3 yare der
F : we-ufe f&q fg3 yare der
G : <y 3 <u feq fo3 yare g, e
fegst west=t € Harz S € Qu-AyT I3 oy 95 -
E = {HTT,THT,TTH}
F = {HTT,THT, TTH, HHT, HTH, THH, HHH}
G= {TTT, THT, HTT, TTH}
€3 €3 g9a Gu-myu fSv fEa 3 <u Iaatt fie g& fen et feg Ardbut fimfes weas=t o& |
16.3.3 wW2a™eT & giFgalied (Algebra of events) AHIT € miftmrfe f&9 wAt € 7 <0 AHTT € HGAS €
fda Iatfant 79 ufgmm /it 3= Aw, are, W39 AYT € Yad »irfe 79 mifenr At | few yarg »mt weast=t
T HGHS AHY Ha3at € 993 fernaus gardt a9 Aae It |
¥& Q@ A, B, C fed fAg ygiar 3 Aéfus westet g5 famer <sait AHg S J1
1. U9 WZET (Complementary Event) JIT WesT A © g893 fEa Jg weaT A’ jﬁﬁfﬁﬂ'gWAE"f
Yo WesT Afde 765 1 A’ § wesT ‘A-sdt &t fagr Ater 31
Geruae e, ‘fea i €t f3s Qe € yuar § 58 | fener Saait Ayg
S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT} J1
Y& 8 A={HTH, HHT, THH} weaT ‘d<% f&q ue & yare e & Semg<t I
53T HTT € 9 3 weaT A wfes aat Jet T1 fdg mift afg rae of fa wesT ‘A-sdt wfezs gt
J 1| fer ya'g weaT A B Yad wesT ‘A-adt I,
A’ = {HHH, HTT, THT, TTH, TTT}
a A={o:0e SMI 0zA} =S -—ATI
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2. W2ET ‘A AT B’ (Event ‘A or B’) Be &4 f& & AHIT Am3 B € AW A U B 37dt fagfuz digr Ater
J frm fT €9 A9 fIW J< gs fAos A7 37 A f9 95 AT B 39 g5 A7 < ff9 75|

e AT A %3 B fan 254t myg 3 Hefuz € wea=t J& 3t ‘AU B’ WeasT AFTB A €57 §
fegfuz gger J1wes™ ‘A U B’ & ‘A AT B’ =t fagr Ater J|
fem et WesT ‘AATB’=AUB

={w:me AAT®e B}

3. W2 ‘AMT B’ (Event ‘A and B’) Wt Arew I fa € Ayat & a7 A n B €9 myu der I fam e
€9 fIw Jv I& fAu= A W3 B ¥ @9 Ue A€ 75 9= ‘A W3 B’ ¥&f ff9 I€ 75|
Hd ‘AMI B’ € WeET=T I 3T AT A N B WeaT ‘A3 B’ & gangEr I
fen yam, ANnB={w:mec AM3 we B}

Gegae Bt fea ui & € T9t Hee 3 yGar f[<o s 38 wesT A ‘ufgst Het Afanm 6 yare det
J M3 wesT B ‘€ Het 3 ydre Hitwr w7 A7 we-ule 11 ger I § SAer 9 3t

A={(6,1),(6,2),(6,3),(6,4),(6.,5), (6,6)} M3 B ={(5,6), (6.5), (6.6)}
fem st A N B = {(6.5), (6,6)}
&2 a9 fT AT A N B = {(6,5), (6,6)) Wea™ ‘Ufgat He 3 6 yale ger I w3 €< He' 3 yae Ffunret ar
A3 We-ufe 11 der 3’ § SneT I
4. WZET ‘A USZ B &d1 (The Event ‘A but not B’) Wt A/ee gt fa A-B €7 A ffimnt & Ao der
I 7 A fE9 37 g5 Udg B <9 &0t 05 | fem &t AyT ‘A-B’ wesT ‘A’ Udg B &4t § oneT I 1wt Aree
gt fa
A-B=ANB'JI

Gewae 6 : g U™ Hee € yUdr 3 feud ad | weaT ‘féq g Afanm yruz 9 § A 3 3 wesT
‘e e Afenm yruz 9o~ & B 3 fagfuz disT Aer 31 36 fedt wes=t (i) A A7 B (i) A M3 B
(iii) A fdg B &% (iv) ‘A &t & fagfuz d9a =& Ao &y |
Js . fog S={1,2,3,4,5,6},A={2,3,5} M3 B={1,3,5)
e 393

(i) ‘AATB’=AUB={l,2,3,5}

(i) ‘AMI B’ =ANB={3,5)

(i) ‘AUdg B&dl’'= A-B= (2}

(iv) ‘AT =A’={1,4,6}
16.3.4 YgRYT faeasl weaet (Mutually exclusive events) UHT Hes @ l[lfl'ElT ar @54t AHd
S={1,2,3,4,5,6} J1H5 3G wear A €q eia At yare 3= w3 wesT B ‘Fa fanz wfienr yare
Jer & fomaz dae 95|

AE 39 '3 AweaT B § fasasr a9 gt § w3 femer €@e < He 91 g+ muet f&9, feg faor aet
ufge™ 59t I 7 WeasT A w3 B ¥ feq 5% wfes I & fonfes gger 71 fea

A={1,3,5) M3 B={2,4,6)}

AE3T 3 ANB=¢, FTAMS BE-T3 AHT I5 |
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WM 39 '3 € WeaETET A M3 B UINUT faeast weaTer qatdt ATt 95 Aa9 fegst &9 fan
fea e wfeg Jer gt © wfez I & faTasr gaer T 7= Qv feast wfez st  raet g | fem enr
fSe Mg A3 B 5733 g 75|

gggr i€ Ui & Hee € yuiar {9 wes A feq i Aftr ygre Jer 3 wes™ B 4 3 &t
Aftm yare der 3 feea a3 |

Ae 39’3 A={1,3,5} M3 B={1,2, 3}
TS3c AM3IEBI3eB
fen Bet A m3 B 57-03F a4t J| fen &t A W3 B UInUd fa2ast weaT=t &t 75 |

16.3.5 Ag=7arl wea'=" (Exhaustive events) fed Ui § Hes € ydar 3 fegg g9 | »At wge gt
S=1{1,2,3,4,5,6} J1mQ I farin wear=t & ufggrinz adte
A: ‘4 F &t Aferm yare gev
B: 2 ¥ 3T udg 5 3 &<t Afvprr yare g’
w3 C: ‘4 3 I3t Afer™ yare g’
ITA={1,2,3},B= {34} M3 C= (5,6} J It Sya I fx
AUBUC={1,2,3}U{3,4lU{5,6}=S
fed fAgtnt wear=t A, B M3 C & AI=iait wes=T afde I& | forua gu 3 Ha9 E, E,, ..., B far
Z&alt AYT S €T WeasTEt 96 M3 HAG .,
EIUEZUE3U...UEn=ik:JIEi=S
3'E,E, ..., E & Aa<iait west=t afde 95 | gd Auet f[S9 wea=tE L E, ..., E A<t afastetnt
I& HId YUdT € d96 3 fegsT fT9 wie-we feq wesT Agg 7t wies 9= |
feme fewrer A 13 i # j BV E, \E, = ¢ fon 7ad B, 3 B, Woms fadad 35 w3 UE, =S, 32
3t wea= E, E,, ..., E UgAud fa=ast rasial wea=t afosier a5 |
g 9 g% Gergder 3 feug a9 -
Gumge 7 : € yfnt & Hfenr Ater I w3 ufmt 3 YUz Aftpret @ /@3 fafiorr 7fer 71 € g
At fer Y@er 7% Aefuz Joshit weas=t 3 fegg Jaie :
A: YUz |73 fans dfedr &
B: YUI AZ 3 T ISH T
C:Yyus g 43 UWed
D: YU Az 11 F=qT
fegt wesT=t &9 fagstu™ Azt Ugnus fa=asthi gs |
7% : FEAMAHT S = (v, y): x,y=1,2,3,4,5,6} IS5 36 f[IA 75 |
3T A={(1,1),(1,3),(1,5),(2,2),(2,4),(2,6), (3, 1),(3,3), (3,5), (4, 2), (4, 4),
(4,6),(5, 1), (5,3), (5, 5), (6,2), (6,4), (6, 6)}
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B=1{(1,2),(2,1),(1,5),(5,1),(3,3),(2,4), (4,2),(3,6),(6,3), (4,5), (5, 4),
(6,6)}
C={(1,1),(2,1),(1,2)} M3 D = {(6, 6)}
ANB={(1,5),(2,4),3,3),(4,2),(5,1),(6,6)} #0
fen &€t A W3 B Ugnuqg fa<ast &dt 95 |
feRya@a ANC20,AnD#0,BNC2OM3IBND=0o
few ya@ 73 (A, C), (A, D), (B, C), (B, D) Ygnud fa=a&t a4t 75 |
&% It C N D = ¢ fer & C M3 D ygnus fa=ast wes=t 75 |
Gewae 8 : f&q g § f3s =at Qo fomrr §1 Io fodtnt weasr=t 3 fegg 99 :
A: ‘get fg3 yare &4t ger &, B: ‘st fEa o3 yare der & W3 C: ufe-uie € fog yare 3¢ a5° |
gt feg uanug faeast M3 Ae=iait wea™=t € AT J7?
9% ¢ &3 ET &dit AT
S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT} J1
W3 A= {TTT}, B = {HTT, THT, TTH}, 3 C = {HHT, HTH, THH, HHH}
g€ AUBUC = {TTT, HTT, THT, TTH, HHT, HTH, THH, HHH} = S
few &€, A, B 3 C AI<Tait Weas'=t I |
B ANB=0,ANC=0M3BNC=0
fen Bet, west=t @ Afawt @ wigHT 57-73 6 I'< 8T uInuT fa=ast a5 |
fem Bet A, B 3 C ygmug fa=ast 3 Ag=iait weaT=t &7 AT ge78< I5 |
| mferm 16.2 |
1. 8 umAT Hfewr Arer 31 s 8 weaT E ‘Ui 3 Aftdr 4 sarr@er I w3 F ‘UH I farz Afgwr
Tamger J1 &t E W3 F UdAud faeast wea=t g5 7
2. e uT Hfewr Arer 31 I6 feut weatet @ =d9es o9 :
(i) A:HAfeur 7 3 We T
(i) B:Hfeyr 7 3 I T
(i) C: Hfewr 3 @7 J=A T
(iv) D :HAfepnr 4 3 Wiz T
(v) E:4 3 <t fAna Afewr 31
(vi) F : "o 3 3 ufe a3t T
AUB,ANB,BUC,ENEDNEA-C,D-E ENnF,FSusrad
3. f&q ywar &g ufmnt € A3 & Hfenm § w3 €uat 3 yare ’furet & foue ot | 35 foutut
WSt O 9SS A9 ¢
A: yru3 Hftret g7 53 8 3 U J1 B : € Uit 3 Afeprm 2 yare gt 9
C: yare Hfimret g 793 We-ule 7 I M 3 T IeA J|
fegast wea=et € faus A3 Ugnud fa=a® I8 7
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4. f3= fifamt & fea =9 Qefonr aer I1is 3§ g wesT 35 fog uatn’ § A 575, weaT ‘T

o3 M3 ffq ue Sue™’ & B &5, wes™ 3 ue fue’ § C &% 3 wesT ‘ufgd fid 3 fe3

yer § D &%, fagfuz aisr Ifemr § &F fa fegst &9 faoghnt wesr=t

() YIAUT fa=astmt a5 ? (i) A9 T& ? (iii) Hafag g5 ?
5. f3s fAa feaq =t €& A'¢ I5 | <96 9 |

() € wea=T 7 fa ygnug fasasint a5 |

() f3& weaT=t 7 AT fasast W3 AI=ait I& |

(i) € wWesT=T 7 YInud fo=aat &dt 35 |

(iv) € wes=t 7 ydnug fs=ast g5 udg ma=fant sdt I |

(v) f3s weasret 7 yanua fa2a8t g5 udg Aaeiant sdt o5 |
6. € UH He AT I& | Wea=t A, B W3 C J5 foudt 397 95 ¢

A: ufg® yw 3 fana Afewr yuz ger

B: Ufg® U 3 2 Aft yruz g

C: yfrmmt 3 YUz Aftret €7 A3 < 5 37

J5 f&utrt weasT=t g ¥des d9 ¢

(i) A’ (i) B &dT (iiiy A#AB (ivy, AM3B

(v) AWgBadT  (vi) BATC (vii) Bm3 C (vii) ANB ' NnC’
7. Bug €3 yrs 6 & T4 3 Js fay &9 A A ¥5 €1 (vue €37 & d9s &)

(i) A ™3 B Udnud fo=as I |

(i) A M3 B UIHUT f6=a® M3 A=At I& |

(i) A=B’

(iv) A "3 C UInud fa=asht a5 |

(v) A M3 B’ YInug fa=asbit I& |

(vi) A’, B/, C UgAuT fa=ast M3 AISaIT WeaT=r I& |
16.4 Fgr=sT @ Aefig femetde (Axiomatic Approach of Probability)

fen mifonrfe € ufg® gmart e Wit §393te yudr, Saat AT 73 fegst yoar &7 Hefuz
wesTet 3 fegra d13T T | wiit MTuS 39 € Fies 99 fan wesT € wfes J= <t Ha=aT et aet meer
T feH3H™ Fae IF | Ag=aT AU fan wear € wfel J= A7 &7 I & Ag=ar § f&a vy &< &t
afam 1

fugshrt a3t &9 wiAt fam yGar 9 o9& gee 3ttt € Aftr u3T d= 3, fan wesT &t
HIT=aT U3T J96 St g9 feutrt & a9 ufgmr T

fomr wesr €t AgesT usT q9s ©F fEa J9 feut nefru femdlae 1 fen 3dla fee Hees=t
fsgurfos a9a et Aefrut Af feot & Tafes itz gfem J1

H& 38 fa fan g393te yGiar e f&ait AMT S J1 He'=aT P fia sm3fed H® & & J fAmer
Y S T W3 AYT I w3 ferarg #iz39s [0,1] I 7 I fou nefgtyt & ¥gwe seer J ¢

(i) fow wesT E®et P(E) >0

i) P(S)=1
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(iii) Aad E M3 F UgAud fa=ast wea™=t & 37 P(E U F) = P(E) + P(F)
AfadbyT (iii) 3 feg mignfas ger 3 fa P(9) = 0 T | feng i gas Bet mrf F = ¢ 8T g7 M3 Sue o7 fa
E M3 ¢ UIAUT faeaat wes=t g, fen set et (iii) 3wt YUz aoe ot fa

PEVY=PE)+P @) A  PE)=PE)+P()IF=P(0)=0

)-T??B'@fa' O, O, ..., wn,é?'ﬁlﬂ'ﬂ);lﬂ'S@'?Eﬂﬁ'Uﬁﬁ

S={0,®, .0} J

AoresT ©f nefrg ufggmr 3 feg &3ia feaser I fa

(i) JWFO<P(0)<1BE we S

(i) P(®)+P(®)+..+P(w)=1

(i) forA weaT 0 B P(A) =X P(w,), o€ A

fonrs fe@ fa -39 MY {0} & 79 wesT afde 6 W3 Hags & mfeur set wit
P({w.}) § P (o)) foue Tt

Qerme et o i § Qe @ yorar e it 93 G Howd T8 a7 fenr — foarfas

9 HaE dT,
1
EA P(H):E
mI 1>T—l 1
()-2 (1)

" 39 '3 feu faguae €< Ha3T § HgHe daeT I ' I9d AfunT &7 37 fAgg I gt I Mz &7t
fea 3 <51 3,

N 1 1

w3 PH)+P(T) =5 + =1

fsmﬁfsnemfe%mﬁafana—;rwfmeﬁgw%m@waw%a
Had WAt P(H) = % w3 P(T) = % B TTI (2)

at feg fagurae nefrg 3dta & Hast & Fgwe daeT I7

1

3, fem femm ¥ H & ey = - w3 T A= 2 4

rT YUg gae IF fa &2 AgesT faguas (1) M3 (2), H w3 T St Agrea=t &gt 27 75 |

s feg €< a3t H W3 T ©F Agresr=t Bt At gHed p W3 (1 - p) fagufas a9
FAe If, A f@0<p<1 M3 PH)+PM=p+(1- p)=1

feg Her=aT fsgurae <t AefAu ferdide €t Ha3™ § Hgwe ade U5 | fen &gt »it afg rae ot
fa fam y@ier € a3t € &% AgresT &3 agt (A feg afger €fez J=ar fa md3) yge 3 stz Ar
AET J |
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e g gy Gedet 3 feg ate
Guas 9: Vs B8 ffx Fxat MU S = {0, 0,..., 0 ) I1 I& fEu &S TWa =3H e fagghrt
Ag=es=t 2T I5 7

BEH o, o, o, o, 0o, o
1 1 1 1 1 1
@ % 6 6 6 6 6
(b) 1 0 0 0 0 0
1 2 1 1 1 1
© 5§ 3 3 3 473
1 1 1 1 1 3
@ % 12 6 6 6 2
(e) 02 03 04 05 06

9% @ (a) HI3 (i): TIF AT p (o) T&HS I 3 feq 3 &<t J1
I3 (i) Ag=aT=r &7 A7
1

1 1
- ——4—
6 6 6
fem met feg A= faguaes 27 J1
(b) HII (i) TIF AftpH™ p() AT IT0 T AT 1 J|
IS () A== evdg=14+0+40+0+0+0=1
fem &t feg faguas U J1
(c) W3 (i) € HI=a= p(0,) M3 p(o,) feesva 75 | fen et feu faguae 2u &4t T

+ =1

I 1 1
6 6 6

(d) ﬁr@ﬁp(mé)=%>1?rfsnm°rfwﬁ@wméumﬁl

(e) faffa Ages=r e ad==0.1+02+0.3+04+0.5+0.6=2.137, fen st fev AgesT fsguas
U &dt J1

16.4.1 lll??S"E’?’Hﬂ?"??)'T(Probability of an event) ﬁawﬁwmﬁﬁwﬂgw%@ﬁxwuﬁm@w

& 99 (A3t 3 fash) W3 uay 3T I ga3) <9 T99ifg3s a9 Set 13T fapr | s @ fa few

YGIaT €7 &9t AHT S I | fer YTar € e¥AgU AT 0, 1, 2 M3 3 Y™ IBHT e Agetdt 3% | fer yeiar €

Har3 &4t AT

S = {BBB, BBG, BGB, GBB, BGG, GBG, GGB, GGG} J|

fg B fea a3t &% A 4are a&H § W3 G 99t A7 IB3t 3 fast g@H & yare gaeT J1
Ha 38 fa a3ttt B8t 35 fednt Aeresret fsgurfas a3t et g5 -
2xait fde BBB BBG BGB GBB BGG GBG GGB GGG
. ‘ 1 1 1 1 1 1 1 1

' 8 8 8 8 8 8 8 8
He 8 wesT ‘BiF fd aB3t 7% I8 €7 d'e & A 3 M3 WeasT ‘Ue-ue € B3t 575 IBHT &7
dgsr § B 3 yde doe I
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PN

e 33’3 A ={BGG GBG, GGB} 3B = {BBG, BGB, GBB, BBB}
Je P(A) = S P(w,).Vo, E A
= P(BGG) + P(GBG) + P(GGB)
r. 1. 1.3
8 8 8 8
e PB) = Y P(»,).Vo, EB
= P(BBG) + P(BGB) + P(GBB) + P(BBB)
1 11 1 4 1
= —t—t—t—=—=—
8 8 8 8 8 2
wQ fEq 99 yaar ‘ffq fifad & € =<t Gewar 3 fegg a9 |
few y@iar & f&aft AT S = {HH, HT, TH, TT} J1
W B8 fa fda a3t set 36 foy Aeeset fsgufag 13t et 95 -

1 1 2 9
P(HH) = 7. P(HT) = - P(TH) = —, P(TT) = ¢

w%@fwwmﬂéﬁuf@?ﬁ?ﬁm&ﬁwwﬁlmﬁwwﬁw
E ‘€< Qe fI9 ffq ot s3tar 3’ & Aeresr y3T a4t |
feg E = {HH, TT}
JE A9 PE)=IP0) BE 0 € E
=P(HH) + P(TT) = 1,24
4 28 7
wesT F: ‘sl € fg3’ set »it yu3 aoe of, F = (HH)

- 1
mI P(F) = P(HH) = 7
16.4.2 AH H3< &3t & HS™=&T (Probability of equally likely outcomes) H& &8 fa f&ar ygiar =
2&ait AHT

S={w, 0,..,0}JI
Ho &8 fa Arg a3 A AT I8, 97 J9d HI® WeaT & Wielg J &t AgeaT g9rad J|
T HJIoe SBEP0)=p,HEOS p<1
fagfar ZP(o)i)zlfEFI'FS'E:\'p+p+...+p(n€"H:\')=1
i=1

Cu np=1#" p=—

V& 5 fa aait ayo S &t Jet feq wesT E, fen yaa I fa n(S) = n M3 n(E) = m I& | A9 I
&3t A Fge J 3T feg uzT Saer 9 fa
pE) =" _ Eemm’rfnwe’rﬁfuw
n IS Ha= a3t €f Afwnr
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16.4.3 W2BT ‘A AT B’ E’7’Ff3"€3’r) (Probability of the event ‘A or B’) WG g WAt wesT ‘A AT B’ &t
HI=&T I P (A U B) U3 J4IE |
H& B8, A = (HHT, HTH, THH} %3 B = {HTH, THH, HHH) ‘f€a fAa €t f3& &= € yGar &bt
g WIH'<T J& |
e 39 '3 A U B = {HHT, HTH, THH, HHH}
Is P (A U B) = P(HHT) + P(HTH) + P(THH) + P(HHH)

Hod A9 &3 AY HI< J< 3T

P(AUB)=—+—-+—+-=—=—
8 8 8 8 8 2
& It P(A) = P(HHT) + P(HTH) + P(THH) = g
KE] P(B) = P(HTH) + P(THH) + P(HHH) = %
3.3.6
few »et P(A) + P(B) = g+ =¢

feg mime 3 fa P(A UB) # P(A) + P(B)

fdent HTH W3 THH, A %3 B €57 &9 33 € 39 3 35| P(A) + P(B) € Ufga®s f<9 HTH 3
THH (32 A B € o) &t Agresr & € =4t farffenr fapr 31 few &€t P(A U B) & U3™ g9 Bt mint
A N B € 241t fdent € Ag=aT § P(A) + P(B) f<9 weBer d=ar|

<  P(AUB) = P(A)+P(B)-XP(0,), Vo, e ANB
= P(A)+P(B)-P(ANB)
fen 38t P(AUB)=P(A)+P(B)-P(ANB)
w?’a’é,@ém@Bf&ﬁuﬁmﬁéﬁ@W%?f&ﬁWﬁﬁ@wﬁmé
MEHT HG YTUg deT I

P(AUB)= p(o;), o, A B

fa€fa AUB=(A-B)U (AN B)U(B-A)

few set

P(A UB) = [ZP(0,)V o, € (A-B)|+[ZP(0,)Vo,e ANB|+ [LP(»,)Vey e B-A]
(fa€fa A-B, A N B %3 B — A UIAUT f52a& I5 ) (D)

&% I P(A)+P(B) =2 p(»,) Vo, e A]+[X p(0,) Vo, € B]
= [2P(0,)Vo, € (A-B)U(ANB)| + [ZP(0;)Vo, e B-A)U(ANB)]
= [2P(0,)Vo, € (A - B)|+[ZP(0,)Vo, e (ANB)|+ [X P(0,) Vo, € (B-A)]

[P0, Vo, e (ANB)]
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= P(AUB) +[2P(0,)Vo, e ANB] [(1) & y&ar ]
= PAAUB)+P(ANB).
fem @€ P(A UB)=P (A)+P(B) —P(A N B)
few g9 © feasfua yire Js feu yag 3 < &3 7 Ager 31
AUB=AU (B-A), fAfg AW3 B — A UdAuqd f&<a® I |

M3 B=(ANB)uU (B-A), ffg A B M3 B - A UgAud fa<as & |
AT € AT (i) <t g yruz der I fa -

P(AUB)=P(A)+P(B-A) . (2
e PB)=P(ANB)+P(B-A) .. (3
2) fes Q) we€= 3

P (A UB)-P®B)=PA)-P(ANB)
a P(AUB)=P(A)+P (B)-P (A NB)
Cug &3 537 & Ta-m3y (937 16.1) T MeSds gdd <t &99T g a3 A7 Ager J|

S
fg39 16.1

HAd A M3 B WA AHT I I7< feg €2 yanud fa<ast weaef & 3SFAnB = ¢
fem € P(ANB)=P(¢)=0
fen et ugnug fa=ast wea=t A M3 B e, At YUz Jae It
P(AUB)=P(A)+P(B),
# fa Agr=aT <t A=fAT (i) It J1
16.4.4 wzaT ‘A a1 "E@t HT=&T (Probability of event ‘not A°) 1 F 10 3 »ifa3 Ayds Afemrer =
on Ufant € 39 &9 Rfq UsT dee € yGar et weaT A= (2,4, 6, 8} 3 fewd a9 | A 39 '3 Sait AvT
S={1,2,3,..,10} J1
- - . . . . S = - . |
Fla“cr):rrér?#rf»;mfr1,2,3,...,10§mm%8ﬁ8?mmﬂﬁe’rwEa—{u’ﬁl

g P(A) = P(2) + P(4) + P(6) + P(8)
11 1 1 4 2

=10 10 10 10 10 5
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&% T WesT ‘Asat = A'=1{1,3,5,7,9, 10}

Js P(A’) = P(1) + P(3) + P(5) + P(7) + P(9) + P(10)
_6_3
10 5
3 2
fen yam, P(A) = 3= 1—§:1—P(A)

&% gt Aré feg St usT I fa A’ M3 A Uy fs2a@T (exclusive) M3 AT (exhaustive) WesT=T I& |
fer®et ANA'=¢M3AUA =S

a P(A U A’) = P(S)
o< P(A) + P(A) = 1, (A=SAT (i) "3 (i) I=aT)
Hat P(A’) = P(A &dT) = 1 — P(A)

G AN g 3t @& YGar et gy Gergest w3 ynst 3 fegd adie, AT 39 39 g% &7
fagr fapur 9=
Gerggs 10 : 3w T 52 Ufamt &t fea Jaft 39+ 3 Tet aiat 5 fea UsT dfen fapu 1 a2 a” U3
T Hg™=aT U3T §9 Ad9 :

() uzTfeeceargl (i) U3 fear &at T

(i) UIT & Jar €T J (I fOSt A g @)1 (iv) U3 fee @ &t T

(v) U3T & dar =7 &It J|
d% A 52 Ufawt <F dait 397 3 It gist feS fEa U3 Jfewr aier T 37 Haw &3t &t Afinr
52 J1
() Y& B8 wear dfenr famr U3 fe & T § A &% TanrfenT AT J|

AR 39 '3 A fET {3t &t dfenr 13 T

13 1

few =et, P(A) = =3

N N . 1.
ge, feq fee o7 U3T de< ©f Hgear = — J|
(i) Y& B fa wear dfemr famr U3 f€ar 3 § B &% artenT #dier J1
fem et ‘dfemr faprr U3 T 5ot 9 § B’ &7 TanrfemT Ar<ar |
9&  PB)=1- PB)= l-—m=l--=12
N B)=1-PB=""5""153"13
(i) He BG wesT ‘Ffemr faprr U3 & dar &7 § § C &% TantfenT 7rer J|
few et AyT C fET f3fmr &t Afterr = 26 J1
26

g< P(C) = §=§

N

-~ _o ~ ) o 1
fanwwamwwme’rw:a
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(v) wrt €3 &3t (i) i iforn T fa wesT SfemT famir U3m fée &r 3’ & A 5% Sang@e T |
fem et weaT dfem faprr U3T fee v &t T § A A7 ‘A &0t &% Tanr=iar |
= 1.3
TEPA T =1- PA)=1-7=7
(v) weaT ‘dfenr fapr U3 & dar T &9t 9 § ¢ A7 ‘C st &% ToATenT AT AgeT J |
1 1

gs,m?;suwfrfsrp(cm)=1—1>(c>=l—5=§
l
2
Gurgas 11 : ¥ §8 f9 9 fevat I& fAus fE9° 4 &% Ja1 <1, 3 31& Jar €t W3 2 UIS dar &bt a5 |
farat marg w3 Wy feT migy 95 | 88 fes € fama g3a3lt &% o€t et J1 Hg=aT u3T 99 fa
T It 3R (i) &% Jar &1 T (i) Ul Jar <1 T (iii) 1B d91 T J (iv) 31F da1 &t &t T (v) B dar &t
J AT 31F Jar &t T
J% : f3Aat < 9% AT 9 T | fer et Age a3t &t 3% Afenr 9 Jet|
H& B8 west=t A, B w3 C § fen yag 3 ufgesrfaz at3r dfemr &

A : ‘ISt Iret fsAa & Jar et I v

B : ‘o<t aret fsaa W& Jar <t 90

C : ‘d<t Jret fena a1% dar <t I/
(i) B 3I1 et f3rat &t AT =4, 7=, n (A) = 4

fer et U3 & dar €7 &7 J S HI=EsT = — J|

few gaa P(A) = g

(i) UT® Iar bt farat &t AT =2, 37, n (B) = 2

few g9 P(B):%
(ili) &S dar &bt faaat f ’femr = 3, 7=, n(C) = 3
- 3_1
few gaa P(C)=9—3
(iv) Ae 39 '3, weaT ‘fSra 1% da1 €t a4t J, ‘C &a1° It T 1wt Aree o f& P(C &aT) = 1 — P(C) T
fem gt P(C - &at) = —%z%
(V) WeaT ‘B dar €f fana At 318 dar & fana’ € AHg (A U C) 3 Efwm A Ager J
fagfa, A M3 C yanus fa=ast weat=T g5, fer &t

+

O |~

7
9

W | =

P(AATC)= P (A UC)=P(A) +PC) =
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Gegae 12: € feferragt Mfss w3 »rfmir fea Uiftnr fee eus 38 | rifss & Wi &9y I &t
HI=aT 0.05 T M wrfnr € Wi f&9 um 3= &t Agr=sT 0.10 J1 €= € yifawr feg yw 9= &t
Ao=aT 0.02 I =5 U3T 99 fa

(a) Mfa®s W3 T €< Wi f<9 u a9t  Aaedr|

(b) €9t f&9 we-we e yifumr &g uw &t d=ar|

(c) €9 ST J=% fEa Y f&9 yw g=ar|
7% : He B8 E M3 F wea= (Mfe® w3 wrfdr & it U™ d9s & Ton @< I5 |
few &€t P(E) = 0.05, P(F) = 0.10 W3 P(E N F) = 0.02
Ey

(a) WeaT T e u 53t 99 AaEdl’ § B N F’ &% TaATenT A7 AgeT I
fa@fa E” wea ‘E &at, 7= wifass Wi um &4t g9 w3 F* weaT °F &4t g7 ‘wirfid Y umr
&It q9at’ TIHEE IS |
5% 3 E NF =(EuUF) (F-Haas faud MaA9)
e P(E UF) =P(E) + P(F) - P(ENF)
7 P(EUF)=0.05+0.10- 0.02=0.13
fem®sst PE NF)=PEUF) ' =1- PEUF)=1- 0.13=0.87
(b) P (ST7 &9 we-ule f&q uw &dt d<am)
=1- P (&< UW I=I)
=1-0.02=0.98
(c) weaT ‘Tuf f[IT d=w € u J=a Jo faut weaT & Mgy J
‘Nfes UH I=I M3 W UH &9t J<ai’
7 wfss UH 41 I=9r M3 WriaHT UH g<ar’
T, ENF AE NE A8 ENF W3 E" N F UInud fa2a® 75 |
fewr et p(Eat f< 9= feq uy g=am)
=PENF orE'NF)
=PENF)+PE NF)=PE)-PENF +PE -PENF
=0.05-0.02+0.10—-0.02 =0.11
Eewae 13 : € yay W3 € W93t € Ay &9 € femagtnt &t fea afist s @t 91 AgesT at 9 fa
AT fE9 (a) IE Yay &7 3= ? (b) fEd Yy 3= 7 (c) €< Yay I ?
7% : Y9 fET fenaadtt & 38 At =2 + 2 = 4 3| fegt 979t f&9 € § *C, Sttt &7 Ffemm ar
HET J |
(a) AMHST fE9 STt yay &7 g 3 g7< I fa At ST € #93™ 95| € #ig3T fe9° @< @ g=ar
’c, =1 39T &% T AIET J |

°C, Ix2x1 1

few met, P(a‘re’ryaua‘a‘f)=4cz— ix3 6
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(b) w3t fET feq you d= = 9= J fa few fee feq #iez I 1 € yaut fE<° fég ygu gse © 2, 9
& M3 & Ma3t I feq gae €@ =t ¢, I 981 €=° o=t § ffad 578 598 € 2C, x ’C, I T& |

’C,x’C, _2x2_2
‘c, 2x3 3

fem ®et, P (feq ygu)=

(c) ¥ uyayt & 2C,dMfandt 5% Ffem™ AT AaeT J1

’C 11
fen 9o P uya)=7. = =
) 4C2 4C2 6
| mfomm 16.3 |
1. S5 AT S = {0,,0,,05,0,,05.04,0,} T S3Afoit Bt I fofmt S faug Ag=sT faguae
27 &1 I3
E3tAT o, o, o, o, (O] o, o,
(a) 0.1 0.01 0.05 0.03 0.01 0.2 0.6
b 1 1 1 1
®) 7 7 7 7 7 7 7
(c) 01 02 03 04 0.5 0.6 07
(d) -0.1 0.2 0.3 0.4 -0.2 0.1 0.3
2 3 4 S 6 b
© 14 14 14 14 14 14 14
2. f&q figr € @vat @erfemT Afer 71 We-ue ffa e yuzg J< <t ot Agr=sT J7
3. f&a ymr Hfewr AT 31 35 fodtit weat=T & Ag<saT U3T &9 :

() fEF g Afe yare g=r
(i) 3 A3 3 3T Afer yare g
(i) 17 13 St Afedm yare der
(iv) 63 I3t Aftpyr yare der
(v) 6 F &<t Aftr yare d=
4. 3™ @t st € 52 Ufaut &9 & U3 939314t &% dfemr faprr|
(a) <Za&ant Ay < fda fdg a5?
(b) UF & gaH =T fear I & Ag=ar at I 7
(c) HI=ET UIT J9 fa U3T (i) f&ar T (i) & Jar €7 J|
5. foa fsaty fiar fame € 3% 3 | M3 ©F 38 3 6 vifaz I w3 fea faauy uw St § Gefonr
AreT I HgesT U3T g9 fa yare Afumret v A3 (i) 3 I (i) 12 1
6. &a9 Ufgre &9 979 Yoy »i3 & w3 95 | Add ¥ AfHST &et 9393t &% fea ufgre Haa
gfewr faprr J 3T feq #igg € g€ A< <t fdal Ag=ar 37



<

10.

11.

12.

13.

14.

15.

16.
17.

18.
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. fea faauty g & 979 =t Qefonr aier § w3 €a femast ooa foz 3 e gfmr fAser I w3

9 Ue F 1.50 gfumr graer I | fem ysiar €t Saait myg 3 uzT a9 fa grt 979 Qest fg fdatit
fda gt YUz a9 Aae I 1 &% Jf fegst gt 9" 99a € Ag=ear St u3T d9 7

f3s fia fed =9 =8 T 95| 35 f&for €f AgTesT u3T a9 :
(i) 3= fez yare ger (i) 2 fo3 yare ger (iii) We-uie 2 fo3 yare ger
(vy SUI W2 ez @re der (v) ffa <t foz yare &7 g=r (vi) 3 YT yare g=T
(vii) B 2 g yare ger (vii) et =t Ue BT yare g (ix) U 3 TT 2 YT Ydie g7
- - . 2 . . . . -
. WWWAETWEU?W‘AW’ETWWW|
HIE ‘ASSASSINATION’ 3 feq »fygd 39316 &% et Ater J Ag™=sT 3T dd fa gfemr
W’ﬁﬂ?(i)@ﬁ'ﬂ%ﬂ'(vowel)ﬁl (ii)@af@ﬂ'ﬂﬁ(consonant)ﬁl
e Bredt feg fea fenmaat 1 3 20 3 vt ’ftpret f@9° & fda-fds Afipret g393t4t &5

gfemm I M3 Aag feg gt et & Aftret Gt & At 7% 1S yieht g5, faggtmt
Bredt AfvSt & ufgst It faaurfas a9 dutvt g 3T QT femaat fea A3 e J1 Tedt © 83
fe&g fean fige & AeresT &t T 7 [Haz : FAfunret € YUz I & gH dgdt &dt T1]

79 a9 fa Jest AgTeaT=t P(A) W3 P(B) a3t Harg Ufgg™a St3ht arehut o& :

(i) P(A)=0.5, P(B)=0.7, PANB)=0.6

(i) P(A)=0.5,P(B)=0.4,P(AUB)=08

Jo ol aract i< vat mas 99 ¢
P(A) P(B) P(ANB) P(AUB)
o L 1 1
3 5 15
@) 0.35 . 0.25 0.6
@) 0.5 0.35 . 0.7

P(A) = % M3 P(B) = % fagT fapiT I 1 599 A M3 B, UIAUT fE2a&T wea™=e I& 37 P(A AT B)
u3T 9 |

#ad E M3 F weaT=t fen ya9 95 fa P(E) = %,P(F): % M3 P(E M3 F) = %,?waﬁn

(i) P(E AT F), (ii) P(E &1 W3 F &at)

wes=t E M3 F fer yad 95 fa P(E &9 W3 F &d1) = 0.25, € fa E %3 F Ugnue fa=a® 9& A a4 ?
wea=t A M3 B fen ya9 I8 fa P(A) = 0.42, P(B) = 0.48 W3 P(A %3 B) = 0.16 U3™ 4 :
(i) P(A &d1), (ii) P(B &d1) (iii) P(A A B)

e usHST & A3 XI € 40% fefermast arfe3 uge 98 W3 30% #Ale fefamrs uge 5|
™3 T 10% fefenmradt afezs M3 e fefarrs €< UgE I8 | Hagd A3 © fea fefemragt
393t &% gfomm AT J, 3T Hg=sT U3T a4 fa G aifes At Aiw fefomrs uger g=ar|
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19. feq TusT yiftrrr § € Sret € »ud '3 Hetads at3r Aer J | fan g393tet s gfewr dfemr
fefenraat &t ufad ewe fS9 uw J= & Her=aT 0.8 I M3 TF ene <9 UH Je < Ag=aT 0.7
J1 g5t {9 We-we g eHe UH J9& ©f H™=aT 0.95 1 €&F SHeT & U d96 ©f Ha=aT af
J?

20. fea fefenmagt & »ifar Wit & nigst W3 fdet St fefint § um g9 &t Hg=ear 0.5 I M3
gt &9 aet <t feur U &7 g9 €t Hg=aT 0.1 T A9 waedt & yifipn ue a9 &t HgesT
0.75 3= 3 fd<t &t yifowrr yw a9s €t AgreaT ot T2

21. feq a3 € 60 fefenmagnt &9 30 3 wa At A, 32 & W, WA WA, M3 24 & S0 § Sfemm I
Ha9 fegst &9 fEa fefenradt gza3tet s gfenr fapur T 3 HgesT Uz 99 fa -

() fefernrast & ws. /. At A7 %s. mw. W & gfenm I
(i) fefenragt & &7 3w, At /t. W3 &7 It wia. WA, W, § gfem I
(i) fefenragt & ws. Wt /Y. & Sfewr T ug Ws. wn. WA, § 91 gfem™ I

geas Qugdet
Gegde 14 : gt fIT SiaT & 839318 €91 5% A, B, C W3 D Hfgat €7 Agd 137 | ot HgreaT I fa
@'Fl%:
(i) A € HEd B 3 ufgst a3 2
(i) A T AEd B I Ufgs™ w3 B € C 3 Ufgst d137?
(i) A T AI I Ufgst W3 B € AT I gie 9 AGT d137?
(ivy A€ 3 Ag I Ufost 77 g7 Ags 3 AET 1377
(v) A <THZI B I st ufast qi3T?
J% : FIaT @ 979 Hfgdt A, B, C M3 D € AEd © fda a1t & Afvnr 41 97= 24 T | few et
n(S)=24
fa@fa ytiar € <aait iy € fIfmrt &t Bfterr 24 31 feg A9 331 AW A= H& a8 95 | few ywiar er
S = {ABCD, ABDC, ACBD, ACDB, ADBC, ADCB
BACD, BADC, BDAC, BDCA, BCAD, BCDA
CABD, CADB, CBDA, CBAD, CDAB, CDBA
DABC, DACB, DBCA, DBAC, DCAB, DCBA} J1
() Y& B8 wesT ‘FaT A T AT B I ufgst goet I § E &% San8E IT
fem ®€t, E = {ABCD, CABD, DABC, ABDC, CADB, DACB
ACBD, ACDB, ADBC, CDAB, DCAB, ADCB}

S
—_—

ws]
~

p—

s PE)= =005

[\
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(i) H& B weaT ‘FaT & A € ARI B 3 ufgst w3 B € ALT C T UfosT ai3” § F 3 €aA8e IF|
feg F = {ABCD, DABC, ABDC, ADBC}

e wet P(F)=%=%=é

fefenmagtt & rerg &3t 7t 9 1 (i), (iv) M3 (v) € Hg=aT Wy U™ 995 |
Eeaw 15 : A9 3W I 52 Ufamt &t Jist 3 7 Ufamt e fEa Ao sefenr e 37 fem dfs &
A=sT U3T a4 fa fen fT9 (i) A9 Ter9 W& I8 (i) 319 3 2T I& (iii) We-we 3 0T I5 |

7% : AYTT € 948 HIS At = 2,
(i) 4 gedg 378 AYaT & Afem = “C, x “C, (J9 3 U3 Tt 48 Ufant fI9 g2 AT I8)

‘C,x®C, 1
“C, 7735

femr et P (M7 fS9 979 genm9) =
(ii) 3 FreRT I 4 I3 UfPHt =& Ayat & Afenm =+ C, x “C,

‘o, x®c, 9
>, 1547

few wet P (frag 3 fAge 3 gen) =
(iii)y PUIE-ufe 3 geH)
= P(fAg= m3 fAe= 3 eW9) + P (4 g7<0)

9 . 1 46
T 1547 7735 7735

Eeg9= 16 : A9 A, B, C fan 939316t &7& i3 yGar €t Harz f3s wes=t I 37 fAu 99 fa
P(AUBUC) = P(A)+P(B)+P(C)-P(AnB)-P(ANC)
-P(BNO)+P(ANBNO)
9% : feggdad: E=BuUC3t
P(AUBUC)=P(AUE)
= P(A)+P(E)-P(ANE) (D)

P(E)=P(BuUC)
=P(B)+P(C)-P(BNC) )
&8 I ANE=AN(BUC) = (ANB)U(ANC) [MYTT €t g & I3 € fernaT ardt]
ferr 3¢t P(ANE)=P(ANB)+P(ANC)- P (AnB)n(ANC)
= P(AnB)+P(ANC) - PJANnBNC]| (3
2)m3 (3) & (1) ST yGar a9 '3
P[AUBUC]=P(A)+P(B)+P(C)-P(BNC)
- P(AnB)-P(ANC)+P(ANBNC)
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Gegge 17 : fEaq fag Sz feg A ST A, B, C, D M3 E & I7aT foomT T
(a) A,B W3 C ¥ gH=rg ufgsT, ga™ M3 3T A8 U3 99s €t ot AgeaT J°7
(b) A, B3 C € ufed fds mast (faw & g 3 sfos &t ot Hgrear 37
& B8 fa w3 »ifay g m-Ha= I )
J% : Aag mAt ufgs {35 Aarst Bt wifan gt € <a3it Avg 3 feemg Jdte 3t ureiar fa fen
! 1

~ 5 o ) a =~ = o a
E'HSPS,WW =5x4x3=60emﬂfagam3me°rwaal

(a) A, B3 CgHeg ufad, gn w3 I A 3 afde g& | fere set f€a ot wifa g 3 972 ABC |

=~ =~ i o a ~ o~ 1
ferm €t P(A, B 3 C gu=d ufa®, g w3 3tH mams 3 afde ) =

(b) A, B3 C ufgs f3& Aarat 3 g5 | fene &t A, B W3 C gt 3! 3dia & | fen @&t fem weasT &
Harz 3! Saqit fdg J=ar|

5 = 5 L S po _3‘_6_1
few &t P (A, B W3 C ufgs 35 marst 3 3fde U?g)_60_60_10
gea® mfem™

1. f&a 39 39 10 &5, 20 BT MI 30 It FABPHT T I | 37 1S9 5 TSt §393t4t 575
I JET I8 | HeeaT at I fa -

(i) ATdPAT S\t SI/PT T5 ? (i) We-we e Jigt gt I 2

2. I T 52 Ufamt < fda gait 397 32 It dlet (RS 4 U3 de e Io | fen dis St st HgeaT T fa
e J¢ Ufant &g 3 fee w3 g gaH er U3 I ?

3. feq uH @ € emar f&9 99a 3 Afwur | »ifag T, 3 exar &9 ada 3 At 2 »ifag I w3 fia
T&A I AfewT 3 »ifag T1 Aag ymT feq =dt Hfewr arer 3 3T Is f8g uzr a9 -

(i) P(2) (i) P(1 A7 3) (iii) P(3 &dt)

4. fea mredt 9 10,000 feae 29 I faust fg en s fea &3 A< g5 | 3¢t fea™ &7 fise &t
HgTeaT &t J 799 3T (a) e feae ydtew T (b) € feaet ydlee T (c) 10 feaet yatee I?

5. 100 fefemraatut f&9° 40 M3 60 fefemraahyt € € T991 §=¢ I€ I& | 79 IAT M3 T3 fEa
139 100 fefenragtt feg I 3T HaeasT ot T fa
(a) IFT €< & It =gq9r feg d=?

(b) AT €= SY-29 =4I fIg I=?

6. 35 feradtmt et f3s U39 fau=ee ae g5 W3 g9 &et uzT fefir fea feerer 91 U39t &
fggtfent fST g393tdt o5 fem 397 ufewT fapur T fa 99 feere feu fea It U39 T 1 dg=aT
U3T dq fa ure-uiz feq U39 mue sl feee feg urfem fapdr T

7. AmM3 B ¥ wes=t fen yaa I8 fa P(A) = 0.54, P(B) = 0.69 "3 P(A N B) = 0.35 U3 &3 :

(i) PAAU B) (i) P(A" " B") (i) PANB") (iv)PB N A"
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8. foa rmgr € govgatit &9 5 Javgatrt & ydy Afust st gfemT famrr 31 U7 SoHgraut &
faQar I fay migAa T :

qH &t fear e (mst fET)
1. I M 30
2. IIS M 33
3. 3% F 46
4. efan F 28
5 ABM M 41

fern M 3 §%79 € UT BTt §3931HT 5% e femast gfen famim | g&a ffq yau & 35 s 3
<y €49 T I <t &t Hg=aT I7

9. 5T 0, 1, 3, 5 M3 7 viat It 5000 I I 79 »igt & Hftpyr =7 §393t 7% feae 13T
fapur 3= 37 47 3 I A € fsoe &t ot Ag=aT T A
(i) ¥iat € yad Mred3t &dt 13T 77 AdEt ? (i) »iat € y&d M=d3t Jist A= ?

10. fan »medt € 3% &9 979 999 &1 96 fAvs’ €9 999 3 0 ' 9 3T 10 wid wifaz I5 | 3T 979
wiat @ fed Y @ (viaT @ usd =93t &at) It It d%er J| fen 3w € ot Ae=aT I fa a€t
fenagt nicst §®< B Aat g e U3T 99 B= ?

fen mifonrfe f&g »it FgresT & nefiu 3dia € fer feu ufgmr T fem sftrrfe Shnt Wy

YHPHIT 36 feitnt T -

¢ Zxait AHT : °Ad A< &3t €7 AT

¢ xait fdg : Faait Ado € fIR

* weaT : 541t AYT T g Qu-mio

¢ nifge wesT : fAeg AT &t AT

¢ fsAfezs wesT : yar 54l AHT

¢ Y WeET AT WEET F41 - AT A’ AT S-A

SURETAATB: AT AU B

SueET AMI B :AHTA N B

¢ wesT A udg B 34T : FHTA - B

¢ YInuT fa=ast wes=t | A M3 B UgHUT fe=asdt Jett 36 Add A N B = ¢ 3= |

¢ rastalt M3 fosast wes=t: Wes= E | E,.... E, UoNUT fa<ast %3 Ae=alt 35 Hag
E]uEzu...uEnzs?HEEimEj:q) Vi#j

¢ Hg=aT : I9q ot i o, € HI3 fed Aftprm P () fed fAat 3 fa
@ 0<P(w) <1 i) > P(w)v oes=1

(i) P(A) = ZP(mi) vV © ¢ A. Aftm P (0) 33 o, € Agr=sT fagr Ater 31
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Jfez
¢ A HST &3 : ANS HIEET 7% AT S31H |
¢ yes g AgeaT  fEq AH He= &3ifat T8 AifHa Sadit AHT BET WesT A € AgeaT

P(A):”((‘g)z‘rﬁﬁrn(AhmgAf%vs@e’rﬁfwm@n(S)=m=|trsf€-u'§3+e°rfrfuwrr|
n
¢ 799 A M3 B det € weaTet I8 3t
P(A A B) = P(A) + P(B) — P(A %3 B)
= P(A U B) = P(A) + P(B) - P(A N B)
¢ 799 A M3 B UIHUT fa=a® I& 37 P(A A7 B) = P(A) + P(B)
¢ fam weaT A et
P(A &d1) = 1 — P(A)

fefsafra &<

Aoesr € faug e feam aifes St 39 A=t &t 39+ feeofoa gt 3 Ifemr I
feret €3uat 16t A3THET fET I8t Al A< feest e e 3f3a fefarust w3 arfe3ad Jerome
Cardan (1501-1576) & few few 3 ufgst U ‘HEer € ¥%F 37 (Biber de Ludo Aleae) f&ut| feg
A3 §Ust € Has 3 giE A8 1633 feg yarfaz et

H& 1654 f&9 Chevalier de Metre &7 € TSI & UH &% HEfu3 g3 mifmr=t & & o yfig
SITHIAT E9Rfad M3 IfE3a™d Blaise Pascal (1623-1662) 37& HUIA 13T | Pascal few yara et
mifret 89 oot 8T a1 w3 Quat & feret gaur feftn™s eairiAT aife3a@ Pierre de Fermat
(1601-1665) 3% &3t | Pascal 3 Fermat €07 & 339 gU 3 M= & J& 137 | Pascal M3
Fermat € fe@rer féa 39 fa=™t Christian Huygenes (1629-1665) fe€a mfen fa=mt
J. Bernoulli (1651-1705), féar gamIHt A. De Moivre (1667—1754) f€a 39 @30 fa=™ Pierre Laplace
(1749-1827) M3 gt P.L Chebyshev (1821-1894), A. A Markov (1856-1922) M3 A. N Kolmogorove
& &t Hg=aT futs fEe yw Gaes €37 | Agesr fAuts € Aefifu I & yAAT Kolmogorov &
=t T11933 fE9 yarfag €gaT €t uAsSa ‘He=aT € Mud’ (foundation of Probability) f&g HareaT
& AT e%s © gy T fagr Ifemr I w3 feg umsa e a&Ha (Classic) Hat et I




ufefane

MeE3 aFint

(Infinite Series)

A.1.1 g

fA=’ fa nigent »3 &3t € mferfe 9 &9 99T I ¥at J, e M@z uer T B agH a, a,, va, .. &
W?ﬂégﬁuqu-ﬂ-e-amgfsﬂ?ﬁﬂwaf@ﬂTHBWa+a ta, +..+a +. #EISTW
MEFH € 38 J<, fea»mas?a&m*@ﬁmfmwnmwﬁﬁfwaﬁaé%wf—ﬁ'ﬁ
TanrfenT A AaeT 9, I

a+a,+ta,+. .. +a +...=zak
n

fen nifourfe f&9, »it g9 v 397 &t B3t T wifis aotar fagst &t f9a-f9s wafas yis €t
I3t fIT Ages Uet I
A.1.2 fan St w3 nig et € uet yia (Binomial Theorem for any Index)
nifgrfe § feg »At € uet yiw e miftiis a3 fan feg w3 »ig €9 us fyss Afwwr At | few gmar
@?W&H%ﬁhﬁmwﬁwm fa f¥fg w3 »ig mEdt gu e R Auds Aftr aat 31
fezrwfeawwe’rmaa“rh?zr g € uet Bt af9e I5 | Wt g¥ yieT, @egaet ot

TIATEE Tt
T feg §39 Aee ot

(1+x)'="Cy + "C, x+... +"C, *"

ﬁﬁnmmmalmh@f&m At faeana AyTs Aftmm 77 feq fds &

)

w3 Wig n € ged {9 Jue If, 3t HGAs "c, T Jet »9w a7 afg Ater|

g< wit, fast g 13 € ust yiw §3ust & fea mid3 &3t adt ene of, fan ff9 w3 »ig,
fea yas Afenr &7 34, e faemava Afvr 7 feq fds I
YHW & B39

m(m—1) 2+m(m 1)(m— 2)x3+

(1+x)m =l+mx+
1.2.3

Sy J A St |x|<1

mem?ﬁwfuwwf—e’@fsrlxkl#—kxde’rmds Agdt J Aa9 m feq faer=ava
AYgs Aftnr A fds 71 @egae Bt Agg it x = -2 M3 m= -2 BT 7, 3T A fHBer I
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(1-2)7 :1+(—2)(—2)+M(—2)2 +

1.2
EAC] I=1+4+12+...
feg Ag= &t T
2. fors fe@ fa (1+ ) , fia m fea faemava fygs fAfir At g fds T, € fens fea uet &
WMEI B det T

fegrg a9 : (a+b)m

I
1
Q
7\
—
+
Q|
N
1
3
1]
Q
3
7\
—
+
Q|
3

= a" {1+mg+% (gjz +:|

m(m—
1.2

1
a™ +ma"'b+ ) a" b + ...

<larfere s, A Ibl<lal

b
fezrhfﬂwétr?rﬂ?‘g
(a + by" @& ferga feg forua ue J-

m(m—l)(m— 2)...(m— r+1)am_rbr
1.2.3...r

€ UT YW bt g¥ uTH T83T I5 et 7, frE vt asuaT sae 9F fa i <1, fegst §
fefenmagtnt & wifemm et &3 faar fapr T -

T+x)'=1-x+x-x+...

p—

(IT-x)"'"=l+x+x2+x+...

1+x)2=12x+3% — 4+ ...

> won

(1-x0)2=1+2x+ 32+ 43 + . ..

Geges 1: (1—%} o feRgw AT AE X a1 <2 T

9% wHT YUI Jae It

H‘i H@(—x}M(_gz._.

1.2

|
+

|
+
+
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A1.3 &3 famrfest &3t (Infinite Geometric Series)

N = pu . a - A1 v
wftmrfe 9 & 931 9.3 F, e WaqH a, ay, a,, ..., o ffest 3t afas@er 3, 7de — — = r (WD)
n ak

A k=1,23,..,n13Ifeim 39 3, 799 Wt q, = a Ha1® 37 53 € 39 3 MW&IH a, ar, ar, ..., ar
1 & farfest &3t e waa gu fagr ater 3| ufost, mit 83t a + ar + a + ... + ar'' T AF YUI JIS
€ §39 <t 99vr a3t At 7 fq I& faw g3g ot o3 7ier 9

S :—a(l—r”) r#1
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A.1.4 I W3 »idt B3t (Exponential Series)
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Qutatt J1
Aftoret & Io fadt ma3 53t § &<
1 1 1 1

1+F+5+§+Z+ (1)

(1) fg &3t It B3t = a3, At ¢ Iat TarTfomT ATer J1

WG AT "t ¢ T W& T wieHT Barfee |
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(2x+3)+(2x+3)2 N

2x+3 =
¢ ST 2!
o (2x+3)"  (3+2x)" N
feg ( ) _ B+20 fermug ue T
n! n!
< ust ynw Idt few e fense few yare disT 7 Ager 9 ¢
1

(3147037 (20)+7C, 37 (2x) + . (24)
n:
nC:2 311—222

feg 2 e et ‘
n'

I few ®et Fiygs B3t feg P e geia 7

i "C,3"22? zi n(n-1)3"?

n=2 n! n!

n=2

o 3}1—2
= 2Z(n—2)' ['=n(n-1)(1n-2)! ETfE'H@HTSa'a@fI@]
n=2 .

2 3
= 2{1+3+3—+3—+..1
1 20 3!

= 2¢3
fem et 2+ & fengTg fE9 2 & i 23T |
J9 3'§T §=, e¥H = 3 | o

2 3
- e{1+%+(2x) +(2x) +}
1! 2! 3!

-~ . 3_— 3a
fsnuyraezmefemfeqx?@me'z,—ze JI
Geae 4 : @ T HE fEq e AEs 39 YIs Miaa J9d usT J9 |

2 3
X X

/) -~ 0 \J o - o o =N X .x
1% : x € Ut 29 98 W3 »idl B31 €7 539 &arge 3, g yus ger d e :1+F+?+§

x=2d¥E I A YU ger I

- 22 20 2t 27 2f

e =l+—+—+—+—+—+—+

1 2t 30 41 5! 6!
=1+2424—+—+— ha
15 45

> Ufa® A3 uat @ 83 > 7.355

39 3¢ &%, AT YuI dae J7|

n

X
+o+—+.

n!



WMEI BIPAT 345

2 22 23 24 25 2 22 23
I+t o S e I S+ S
20 31 4 5! 6 6° 6
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A.1.5 Bwaredat 3T (Logarithmic Series)

fea J9 HI3<yds 531 Bwared! 3t I frost wias &3t € gu &9 91wt Jo fau 3t fast A
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(MATHEMATICAL MODELLING)

A2.1 gfar
fugsht g Aaraetyt f&g 1St 98t Arst 36t 3, g f9o-fas u3et faust fee 99 fefomrs 5=,
a7 &3 7 ydus wrfe fS9 Uer 3= ==t ewsfea dles 3 gt mifmret a9, afega fedbut
T fe3W® J9aT Wgel a9 fE3T 71 sm3fed idt mifmret § 9% a9 &9 arfes e yar yv 39
'3 FfuBed et mfgass I a3 W3 migasat feutn™ 993 3= g6 W3 fegst e yudr &9t W3 Afes
et € 3% § mAs g8 BEt Ji3T AteT I | ew3fed Ales < fan mifr § afesa gu f<e
ngefes 96 € Yfgnr irg e fag3e fague W3 vm mifrret & 35 foet 91 guisee &t feo
yfgrmr fswons (yfsgue) afos @<t J1

feg »mt fem yfgu 3 93 99t & 7 uge g99 Guwdet ot Jatar| A9 3 ufost gauT
gatar fa gifesa fouams &t T1 8ne gwie fawans <t yfgm™ 3 93 99t <t 99g Jdfar |

A.2.2 §gn 3t YT (Preliminaries)
Jife3a fsuans, fere & Mz st f€q wgdt wiag J1 yare A &9 dtw, firg, 9793, 618 W3
JA € BaT & Yga3d Wes'=r § mHvS w3 gfuaet a9 Bet mirye aife3s € famrs aat Asg
fe3t | =g a&r aHadhit, fasuarat W3 ardlaet & wruet gg3 ATdt agfgItit & fanrfest fatat
3 w3z 3T

V& %8 & naye g9, ffa HiasTa & €9t HueT g7deT I | WU 7t 813 €7 y&dr 494, fem
& €uret & vueT gg3 yafas J| fer wet gur feasy J=ar # feg-fag weat § yuz sigr A< A
Gt yuz 9w BTt Hewfed g5 | mMuS f3aeiSt € famnrs 3, v Areer I fa Aag €7 @<
de w3 Hlse € U 3, v fig S & gt fag Gv ufewr 9, yuz T 3 §u rilee &t Gust &
ufga®s a9 AgeT J1

fem et Grer o Hisg & 9t € @9 d< & w3 vls9 € U9 fig 3 € fig 3 =, gt &,
frg €9 ufgr I, yuz J9sT, g Aew T farrr 31 fegt €9 & miAmat &% Wi 77 Aaer J1 fem
yad 7d9 G 9= d= & 40° M3 gat § 450 v, HrueT § 3t few mifimr & Gegee | feT =efes
g3 fapur 31

Eegee 1: fateg St St erGuede, pt 3 g0 I fAaggr at Hisg € U 3 450 . et gt 3
J 40° T vtasTd € B9ret uzgT I |

3% . mmt, fem & Su-<y g9t L9 I Ja9rdT |

99 1 : A 3 Ufost wiAt T 3fea mifirr § mige & dfim aoe of | mifr fe9, fea vilsg et
get I, M3 fenet @uret vt et 9 1 ifenr 1 Guret § Iner 91 feg fesT 9 fa ot 3 fég 0 3 vts™g
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T Ug <t gat 450 . T 1 e d fem gt § €T T 37 d = 450 Wt T 1 wivt feg < wree oF fa 6 oot
e @9 de 40° I &3t I8t gat @ M3 Gu< d< 6 T yGar a9 Hisg & Guret h deer
Trzfes mifrdr 3 B

g9 2 : AMfT &9 St f3& amtet, Guet, gt M3 €9 de o& | fem st
&, fegst f3& amwbnt § Age 9T foa /g yuz g9sT 71 few § farfest gu

S =S A

feg e 3¢ Jo fou yag yuz disr 7w 9 (939 1)1

AB Hta™g § €FeT 31 0A fig 0 3 Hisg € U9 39 &t gdt féer I1 ZAOB .
o= dT I 3T AE YUz JeT I
, 40
tanezgﬂ"hzdtane (1) O
GEC|

feg 0, h M3 d f<5 iU Ferfue aos =& fEa mitage I
g9 3 : WMAT h ¥ NS d8T BT AHlade (1) € YWI Fde Il 6 = 40° A3
d = 450Mt. f&3T gfem™ 137 A& 1 = tan 40° x 450 = 450 x 0.839 = 377.6 Ht. YUz Jer J |
g9 4 : fem zet feg yruz Ifem fa vista < €=t argar 378 1t T1

g g Wt fer mifenr § 9% a9s 9T yGar fd3 g fy-24 gost 3 forrs eeite, ufod gae
feg it smafea mifrrr & wmifoiis disT w2 ufenr fa mifrr i f3s Hues-Guret, gt W3
€9 d<= 75 | ferer H3wy J fa fon ue feg emzfea Ales 3 a3t mifmdr e wftis 13T T w3
€n f<g f3s Wues-Budt, gdt w3 Gue d= & ufgasesT J1
ga< 2 e wg, g3 fanrfest & yGar a3 w3 utfenr fa mifm & favrfest €ar 3 fagfug atsr &
Aaer J fae fa fo3e 1 fea o dfewr 31 3T it “SHe” e85 wet f3asiaet nigurs & ysar ait3r
M3 HEU h = d tan O YU 137 |

fem et fen go< & it miffnr & afesa gu 3 3fas atar| fer e »igw T fa mirt = w3fes
MHfAT BT fague J9s =& e mildae yuz 37

o< 3 fIg it afeza mifnr § 9% disT W3 YUz &3 fa 1 = 377.6 v, 91 97 Avd mifmr
T I8 YUz Jfenm|

#wf3Iy ga= T vt miferT € I8 @7 fagegs W3 ST T fa Histg € €9t &argar 378 Mt. T
it fer & fen yag afge ot :

Tr3feq Afast & mifr &9 afesa I8 e faaeas J9aT|

Tz 3T feu Qv ue 9, fAgs™ e gifegamet w3 gn 8ot & ew3fed dles 3 g3t Sy-2y
et @ wfis g9s et Yaar a3t wit fer yas 3 fegrg gafar “Tu-<y mifrmret § 7%
95 BEl gifez & yuar fag* Agat 917

feg g3 Gegdet U5, fAvs’ fE9 Sy-Jy I83T @ wimis J9s Bt afes @ Adt gu 3
ferays &g Aer J1
l.  H3YT ™3 IB-57% UPHT € AAld € SY-IY II fS9 WTaHIAS M3 §8 9T § Ug9'8e et

At ¥& € gue & 9993 I, Y& © A99s AT Y& ©f a8 € giet fE9 fan 39t T gwme, Y5 ©

gUT § 99% AAET I M3 g% T9€ 3 mMYsd N3 3 fan & 3gT €t st ugeT maer J1 feg

AT Y& € go= »3 |ala fefamis 3° Aafu3 ye &t a8t & ymwtnst € f&eama, idg yus

95 e T
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faae feg Ftam »iufes f€a are € ygay 0T € fague § Sud feo Hawe 98 fa 989w €8 a4t 9,
UydreTgT @7 fageT €T JI di@ € €899 € U9 3 BdI€ 3 UfosT, dre € Im3fed ugt 3 mutfdg
< 3, gifest mitgest YUz gett g8 | uar-gur e fageT 3 &t fen vigdds d96 o
feeaw & ydiar a3 #7er I

gfong fedtnt fegmar afest fagent 3 murfas iy &F gfeueret gaer T1 g% HUEs | HAW <t
Afggtnt fE9 ges= § ygrfes aoe Is, 8T 37U, g=r & g™, &Hl, 9= & I3t mrfe I5 |
fegst vuEst § HuT wEt fAgst g9t €T ywar ger I, Qs f9 Ut § wue wEt
gaHHteT, I=T € ¥9™ & HTUT SET §avled, aHt § WU &et greiaHtes w3 9= €t arst § uE
el Eatites orfvs g& | f€a =vdt fAe’ 7t €n € 9797 U'fRE 993 AeHsT &9, 8 Was YUz 3¢
5 w3 Ffuedt ST »iar € femdnet M3 »aw fad=vs &t fE3 A 75|

y3tarst fegmar ust et 3, 9793 9 or=w & Uve9 v »iass ddaT gger I fefamrst
T=% € Ue'eT9 € 4397 § US'ST I& M3 I¥ Yf3gV u3T &9 enst & de o W3 3549 Yf3 &a=
A3 G3UT YU3 J9€ I8 | I3 Ma3T fefamis B39 a@=t € mud 3 IS € WAz Ueed
€ &3 3 udar feéer I

feg fadhrt mifret & 98 d9s <9 afezas fas Hew aoe I ? BT u39 9 wifgat € 5%
gov 75, G@ugde But, ufgst mifr i Adle fefamrs-rmzet €t vee 3 mifr e arfest
gy dee I | feu »iggy feq A7 u milgde A7 Mimdtagest »ife 3 fAgs fa arfest fawam
FfgB T 75, HEe I8 | 37 fawan & I8 Jav g6 W3 Hisa mifr € Aedy g I% &
fenrfinT aae g5 | fer yfgm § mise 3 ufgst wit g9 aotar fa g arfest faeam ot 97
fea arfedt fawan fea fague I fagsT fa fea uforfast & meBer J|

I feu Gergae gt fa vaed frrfist fawan § €3fuz stz dfem I

Gemae 2 : (U® mifwT) dfsameadar (Konigsberg) ﬁjrsm’réefﬂwfa“ram%fm?fa 18
A3rget f&9 AoHat e € &9 At, udg g< feu gn <9 J1 &9 & Weq € ey 75 fAgsT & W3 ust
gt &€t € fastfont 3 fAfgwr faprr T (939 2)1

1% : YA A fd 5919 € 979 UH fen 377 98T [ fenast, 9da U 3 a=w féq =t gad | udg feo
fea yafa® mifi ffg 3€t | Leonhard Euler fea Afen aife3ar & 7 gt Anva™w ‘Jadts €t Jf¢’ €t A=r
fSg S31 At, fern miferr € 979 BfenT | 1736 &9 wifesg & i a3 fa fis 9% fg< &0t 71 @ga™
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& fa yarg € 939 &7, 3e=ad (Network) gH IfTHEE 5, 47 J9v I¢ feng g aisT? few A
v fe (g 95, fRE Juret fiseit g) w3 97Ut (Jureh) e sfenr 3femr § (939 3)1 €97 &
&et € &t fasTfont Bet w3 €&t Tyt ®et 979 FuM fagt (fawat) e yGar a1s71 fega™ & A, B, C
w3 D gt feafes atar I M3 A3 grut oot W3 yst & ganrfenr I1 grt <9 Aae 9 fa 3 ys (3mum)
&et € faad A & #3€ 76 w3 3 &at € fasd B § #3€ 95, 5 Us (IUN), 7Y C § A3< 96 W3 3
Ty D & A% I | fever = I fa A9 et fee syt &t Afir ofar T ferset feo ofa fiug
Ffos 8T Is (ffa fAnz fiug T feng AT JT ffa fAns Aftr =8 I7u §< 95) (939 3)1

&dt fastar
A

&<t fastar
B

feg9 3
we 3y fa feg mifmT 319 @ fege-fage 39T a9& <t At A fa ffa ys 3 a<=& ffq g9 It
FrafemT A7 AeT I Euler € 7% @W 3 femer sifgyrfe feg dfewr fa w9 fiyet 3 9%< 98 999 97U
3 d=% fea g9 @t U9t & fag I=J7 | Euler & fiw a3 fa feg adt stz 77 Aaer fa@fa Gast & Uzt
sarfen fq iq fiyg de 3 o8 W37 O fiyg 3 B M3 U3H adat d=ait (fene 79 A9) | fed-faat
Afe3t &9 fig ggnmst w3 wifan Afest ffa 3= M3 Agg U9t € f9g 99 97U 3 d=% fEq gt U, 3*
€5 a=% € oix fayd T Aae 9% | fa€fa few us mifmn ST 4 oia fAvg 9, fer oot feg-faar aaaT
Ag< &4t J=ar|
wrfessg adt fen yiwr & fig 99a € ge fRe sgg it gig famrm 1 1875 fRe it 43d AmM3 D &
A3 3T, feq 99 us @7 faans 13T fapum (939 4) | at g JfsamHggar €@ SaT € st ffa us o d<%
fea grat yGiar g9d 919 € 9 UH IS AT HIS J 7
&g nfadt @ g<at, fas fa {939 4 &9 feyfeonT fapur J| g 52 Y& € 93 A7 € g A W3
D €& firyg, mwr3 € fidd g 3 98 1 U3 B »3 C g =t 2ia feur w3 € 95 | fer &€t dfsamrgaar
T FEt ffq U ©F a=w € g9 YHdT J9d &d19 € I79 U'N &8 A'eT HI< J |
ufoug &t 87 3 ffa s< g3 €t ggnrs 3et, 7wy fro's afos@er T fAe ge d=< ufsuw &t
GrsT Afg3 F4-Jy gut fI9 fersws aisr Ater 7 (f939 4)1
¢t faamar
A

&dt fasmar

fes9:4
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A.2.3 difest fseans st I ? (What is Mathematical Modelling?)
feg wt ufggns aotar fa arfest fawans ot T W3 fom fee g Sy-2y yfgmr=t § Gergget oot
AURE &diar|
ufggmr : gifedt uet fTe sw3fed Aies € mifm € g9 gmar (AF gu) € wfois € et arfest
foeans fea afmr T

Ffaa Afast e g% ala ufgrfasiy & &% difes 69 FesT 3957 g3l [Gedrs afaseer a1
gifest foears T Fasia J [Ae° pun st 3 fEmm dfem 7 37 f@ 4& feforrs 3°1 3 WAt aifest
fseans 3 g3t fy-Jy yfgnret & mige o | fer yfgr <9 979 ue arivs 75 | fea fere3 gas
Gegae € gy <9 it fEq raw ffF How @< & a3t v mifens ags &et a3 I¢ faeans Jae It |
ANTAHT & AHTeT
Gergoe wet, fen f<g wivs 9, now 3w & oSt 3 73t ufgu™ & migeT | it A9, 33 979 ufost
3 AT 77| f¥q 3¥< Aude gu 9 T g™ (mass) (RT3 979 (bob) € gu &9 Afemm Afer 9)
# g uar € g fag 3 afenr I famer ga fier Ea fig 3 Afge 91wt mifods 3T 7 fa mes
3w< < a3t mifea I€t 31 5% Trar €t et M3 Jg3<T Y=aT 3 faagg g9 I few Tt wrg fem
AN A9 3 <3t 793 €88 I YUI J9s ©f I fen 3 murfaz miffr e farfas aus mit 35 fau
ygrg fee on:

FES AT HIS 3B €7 38¢ I8 fa= yuz gae It ?
MITBT gI€ P39 JeT J|
A3de - € WY 9a<t 3 fimer J1
1. yifarg weat & usesr : fen f&9 »rt €T yast & u3T g9e IF & M &9 afvs 95|
gGergoe Bet 3BT © S <9 feg wed 0%, 386 a% (T) 9 € TIH'S (m) 3B e YF=ast
sgret faost fa Afge fie 3 99 © gows 3 d'eg © fSoarg &t gdt 71 &g wit gt &t St & Soe
o ygerrst Suret € gu T BT g w3 A3 Y= (9) § €W FEs 3 fEq Afgg Hs BT T

fem met 2t mifrr & sfrs aos @t 979 yest & usTe d1St I1 g AsT €F § yus
s J1 fene et mint feg mige &t wga3 I fa Qv faua-faus yow us, fA93 So5-a® &
ygfes d9e 75, fAng fea Aurgs yeiar avdt ait3r A Aaer J1

wHT € TY-JY TN St € T8 ©F Jier BT IF w3 OF 99 97 § ms dEEt @ % ©
grfaryt 3° A3 I YHr Ja€ IF | vt 38& T8 HUE I7 | wint fadtye qge f ot gans € 998
3%s g fI9 fan yara & Meam ses< &dt Jer I 1 g, mit, fem y&ar & aiTs geHTs &bt aret,
Udg FY-JY T € U B J g€ I M3 fadhuT qav I fa 3%5 I 3B St ST I AR 393
fsggg gaer J1

feg Afe3 goeT J fa 386 T € WS U™ J9& BT gaHs m o Agdt yos a4t 95 7 fa
sgret | foq Aget y9s I »ad 99 3 AT 3 ufost wgdt yest § 9T ©t feg yfgnm agdt 91
2. gifega =aes : forn &9 ufost 3 ue™e I8 Uest @ YGar aad fed mitaae »mfiar At frdrfiiat
f939 YUz d9aT i J1

HI® 3B € WS &9 YGiar a3 I8 AT fAn 9 386 a8 T € Hs | € U-J4 HTaT BT Y
Jre AT | fegst WSt (Parabola) & € »m@y 3 Tamrfenr farr faos fa feq da9 € gu f<e ufee ™
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Sfen 7 fa f€a Uegsr 3 figer geer /| feg faz g9 7 fa T w3 [ € f<gars = ffu Js fou gu
feg fenas a3 A7 Aaer I
T2 = ki .. (1)

2
feg urfewr famrr § far k:ﬂm?%mﬁmm@%l
8

T= ZEF (2

g
milage (2) mifrdr & aife3d e féer J1
I8 YUF d967 : Jife3d gIa< mfee 9, fifar €739 féer 31w gu 3 it g% o gaw of, fam
feg fea mitaes & I& a9aT, aIesT A7 fed Yiw &7 Y&dr g9t »ife arfis J1 Aes 3o &t Afast
feg mitaae (2) fET €3 I’ H3T € Miaydiar 3 I8 figer 71 Sy-29 S9et T8, € Y-y 3BT
3%6 % AaSt f&g gantfenT faprr 31

Aget 1
225 Mt 275 A Mt

T 3.04 7. 3.36 H.

et feg feyfer fapr T L =225 A M, T=3.04 H. MI [ =275 A M., T=3.36 7.
Fe MIG/HAI3T

aife3a fouans fEa em3fea mles & mifrr € Tgat gt & nifois gos & € afim 71 agt @<t
fsean mitage feq »egn Aegy f<u AfEst & IBusT Tad YUz 13 AT I& | fauan a=s 3°
erfeeve gear Aaq feu Quat 9 Jur &t fenrfunr gaer T frost &t fa it ewse e femfanr
JI&T ITdT HI | T9&T, AT feng ASiad &4t Jafar A 89 3 few f9 Aug qofdl w3 femer <9 3
ufgame Ja7dr | gn maet &9 it faean &t ygentssT swmsfea mifrmr € g9 &9 Gusey af e
&% Jife3t fawan 3 YUz ufget & 35aT gaa Hue I7 | feg yfgnr faeen & dersT afows @<t 91
HI® 38 © HH® 9 vt 38< 3 9 YGdT Ja¢ JF M3 €86 IS YU3 Jde I | YWar € Ufge™
Aot 2 &9 fE3 98 o5 |

AaeSt 2
¥9 FY-JY 3BT BT YGfdd gu 3 Y3 fd3 I €% IS
Tans (faar,)| &aret At AHT(R )
385 275 3.371
225 3.056
230 275 3.352
225 3.042

IS WAt AraSt 2 @9 WU I W& &t Aaet | 9 &3 aIF aiesT €t 913 aF HBT 3 IB&T o< Jf |
fedhue W&t W3 gIesT d13 I HaT € W39 3 IB3t YUz gt J1 @eges &t [ = 275 A Mt i3
TIH™S = 385 JIT. BET

B3t =3.371 -3.36 =0.011 J|
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frgsT fa 993 <7 § W3 fowan AetaTg stz Afer J1 feq T¢t 7e° At fswow § A<tars a9 8¢

gt, 3T g fawan € mag fsgegs agaT I 1 ewafeq Afast € feds ST I8 T9es d9s < yfgnr
foaan <t GaraT sfos @<t I fer vy feT »it I8 &t G913 Jo oy 390a 3 &9 Aae It :

(a) SBE-TF, B T HIE T TIIHS € MEgH € mgu3 &g Jer J1

(b) feT, IFI=T Y=aT € TIIHS © §F< migust Jer I

fen fseaw 3 Ast Tu3™ W3 »i9y fagegs fever 7 9 fswaw 3 g miffewr e gg3 Tt Jar
€39 yuz e 31 ydg mint ufenr fa aresT 13 9T 53t w3 HU 9T &3t <9 g9 a3t I feg
fem wet I fa »wt grar € gens W3 Wfeny € yf39u & medser st I fem wet few uforfast
feg, mft feq G039 fowan § S9¢ o w3 feg yfgmr A<t afdet T

feg A fEa Agat fadhue €t <% anaT orer § | en3fed fies & AHseT M3 Gner yds gu g
TITs dI5T 9Y3 Afew I vt feg fag ffa A € yas gu 3 sl wear § gev o fAgx Afast &
ygrfex Jae d< | 3T At i€ fed fAgr Aes i3 dfen faean yuz a9s &t dfam age It fAgsT fa
Afg3t a9 g9 AreaTdt féer I | wint fer faean aat feg wmar q9e I8 A9® Afast @ mifons a9e It
fa »rt Afgst e feq =i fsear yu3 &9 Aaie |

g wirt, feeans 3 g3t-Hy yfepdr & femr yama Auy gae ot |

(a) IS (b) I& (c) WaraT/may fadg=egs

eIt Qurgde ST I fa mAfkar @ wdt I8 U3 d96 € 3Tsd € YEdr d9d, feeans fae
FI3T A7 AgeT J1

Eergge 3 : i grov oQW 9 g9 I7 We-ule 800 . I, U™ mUTg €7 Y&dT JeT I | 47 mMJTd HaT
w3 Aferdls € I fou Atins € Maag gfemm Jfemr f&a fumes J1

Adet 3
ueTtgg JHd I%=dUd JTHd I%<=dUd ¥re)
yfs faar. it yfs faar. omr yfs faar.
Har .09 02 109
Aferts .60 .06 2049.

HTH MJ™g T I AUt Fgast we-ule 30% Yets W3 <u 3 U 5% N €F HaT gaet I | I9 Id WJg
fHAge &7 We-ue H8 dg |

i% : gae 1 : &g AraT n Ham w3 Afendis 3 98 976 € 99 90 © H® & We-we gaaT J | fem zet
€7 9% (wea) fAgsT 3 fegg 3™ AeT J I &Y 75 -

x = Har &t It
y = Afewets @t It
z=1=J_'cthT'<“5'

99¢ 2 : AT 3 € W3 8N wifag 9w I6 1 z, x, y mtads 3 78T Jue g5 AT
fa ; & Jo fodt ma3t € 578 We-ue geger:
z=10x + 20y . (1)
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(a) =M feg, Har w3 Afenmels e Hienm gfemm uié-uie 800 fa 3. »ama yeiar 3T fapum |
g, x+y =800 .. (2)
(b) g fE9 We-we 30% Uets »owa Fldt Agast € wigurs fIT It gdtet § fae fa mast
3 ¥ ufad gy &g fesr dferr T fen S yuz ger 7
0.09x + 0.6y > 0.3 (x + y) . (3)
(c) few yare au™ TU 3 T 5% weur3 &9 I gater I # fa Aast 3 € gn aa fev fesr
gfen g1 fem 3 yuz e I
0.02x + 0.06 y < 0.05 (x +y) o (4
AT x, y € A9 g § fedaT a9 I8 (2), (3) M3 (4) 9 et It ma3t & Aa® dave It
3t MiffT I3 oy arfesa gu fee g9maT yare Jist 7 Aaet I
FES 7 & ue-we g7, Ha3T I ¢

x+y =800
0.21x-.30y <0
0.03x — .01y =0

feg fawan T g39s y=s qgeT I

g9e 3 : feg wirdt a1 3 I8 13T A7 AaeT 7 | {939 5 39 efenfas 439 mitadet er o< I féer
J 13y 3 feg mime I fa fegst &7 Wie-ule s HTs &g (470.6,329.4) 3 fider § 97 x = 470.6 M3
y=13294.

1500 s/ " TTte-al.

1000
\

500

0 500 1000 1500
a0 F T x = 470.6 faar.
y = 329.4 fa.aT.
z=11294 4.
ISECE]
feg ; = I fafonr s féer 3
7=10x%470.6 + 20 x 329.4 = 11294
feg aifega 38 J1
gz 4 : I8 ¢ fen &9 feo Ifde 3¢ 9w fagegs 3T A7 AaeT I fa, “Har w3 Aferrsts @8 yH
waTg, fAn 9 9% T9ua W {Ets W3 30 € $31¢ 7gdt 9791 9%, ©F ule-ule W& 11294 3. § M3 mnt
feg We-ule H® YUz aae It #ag wHt 470.6 fa 3. Har mi3 329.4 fa 3. Afermdts & y@ar age
a-i-I”
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Wa® Gerade 9, wint 999 Jatar, fan en 9 fea yw A 3, maret e mfts d9a &et, fas

year &9 e A7 Aaer J1
Gurgaes 4 : viw € fa fFx niget fauzga feamet feg Aaer gget J fa fan en f&9 on A&t gmie
wgreT ot d=ait ?
99 1 - g3a< : wiAt fadtue gae T fa ma<t i € &% geset I w3 feT AaH € &% Juet T M3
N3 € &% wedt J|

T € v A fET et YUz q9aT 979€ I | He 3@ 1A § At fRe Ser I 3T e W
0,1,2,...1t S€T&11=0TISIHE AN & SONEET J, 1 = | WIS A'® & Tanrger g mirfe | fam A ¢ st
He € P(r) €7 v A fg mia<t & Sner J1

Yia B8 fa »ift fam yi A fe9 »Emet YUz q9aT Ide I, §ede BEt £ = 2006 f<T #it feg
fa= gatar ? mAt | AG=dT 2005 & et YUz J9¢ 97| @ A% <9 I8t AaHt €t Aftr & €7 s
o miaet S A7 foe oF »iz Bn i &9 I8t ¥ism < Afar § 7 As & maret e wer fee gt
H& 88 fa B(r), t M3 1 + 1 € fSga9 fEaq ws &g Aant &t Aftr § SAE I M3 D), M3 1 + 1T
fegarg "3 & Afenr & erer 31 3 A T

P(t+1)=P(®+B(®-D () yu3g Jer J|

I At a9 Ufggmret W3 wfguda=t Ja< I7|

B (1) -
1. %mﬁﬁmziwlwmwmm

D® | - - Do
2. P—(t)ﬂwmzymlm"rweam@@ral
nifsgraerer :

1. AGH ©9 Ad MITHT BEt AT 7| fer yama i3 €9, Ad W3asT Bet i J | ferer weg T fa
e »9® b T, fAT3T fa AaH €9 Sfgw e I w3 fg wew ¢ J fAgsT fa g eg afas@er I fAam 3
fo Ard 1> 0 BTt

B (¢ . D (1
sz(t; M3 d=ﬁ(t)) I5 | . (1)
2. wEat fE9 AT wiEret I JE Wre™ A YIT &41 IfenT I I mETEt §E%E d=% 76K M3 N3
3 Jfemm 31
nfgurageTet | M3 2 € 531 =0 AT 399 It S3HHT dee I fa 1> 0 BEt
P (t+ 1) = P(1) + B(t) - D(¢)
= P(r) + bP(¢) — dP(f)
=(1+b-d) P )
2)fEg1=0Fye I8, yuz d=v J
P(1) = (1 + b - d)P (0) .. 3)
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mtage (2) ffg 1= 1 due 98, yuz gev
PQ)=(1+b-d)P(l)
=(1+b-d) (1+b-d)P(0) (MitaeE (3) YGar J9d)
= (1 + b — d)> P(0)
fer yerrg A yruz de J -
P(H) = (1 + b - d) P (0) . (4)
t=0,1,2,.. B MIS | + b - d & »aIAd Ay gy &9 r IfIE 95 w3 feam w9 Ifam@er I 1M Ju
f&9 Robert Malthus €t f&w3 mieaet f[<T fAns fen fawan § A 3 ufos™ yAzg3 &13T, feg Malthusian
Afeg gt afgs @<t I1 r € 7T, mitaes 4) 3
P(t) = P(O)r’ 1=0,1,2,... Yu3 &Il .. (5
feg P(r) fea 979 w3 wiat e%s & € §eg9e J1 ¢ U T JEt 88& T ¢ M3 r vies 75 | f€q 99
W Wat €% Jer J|
mtgaE (5), mifir e, arfest g9 31

gac 2 - I ¢

W& B fa g & wiEmet 250,000,000 T M3 ASH €9 M3 H3Ed IHET b = 0.02 M3 d = 0.01 T | 7 AST
feg naret faat J=ait ? §39 ©F Y&ar a9d, At P(10) < IresT dde It :
P(10) =(1.01)'°(250,000,000)
=(1.104622125) (250,000,000)
=276,155,531.25
F9< 3 Har3T M3 Iy faaeas .
Aefed gu 3 feu 537 fagrgua § fa€fa fea femast e 0.25 &t T Aaer|
fer et it g BIFIT HS YrU3 Jae I7 M3 30 3 Ugee IF fa mEet 276,155,531 T (Fargan) | &g
aife3t fawan feg Ast Hahnt Jetwt mifguraeT=t € a9s, Ard wAs €739 a4t fimer|
€3 &3 Gugae one U5 fq f95-f9a aifesa Iasiat e ytar d9a aet yarg et Afggtmt
feg foeans fa= aizgT 7w J1
fa@fa fea faean fan =w3fed mifimr e Aew &i3T Ifenr fague 9, fem € ¥ g € a9
fem &9 gt 9t mifguaer W3 Sagar 96 | AlEe gu 3 AT 3 #gdT Uns, e fager 8= wr 7 fa
AT fawan €91 I A &t, femer = fev T fa A€ yuz a3 98 a3t & Sfad gu 3 »iew
fagefag g™ Aer I 3T fa fawdn, 39 a9a Gar €°39 f&37 T A &t | Fad Fx fowaq Tl
MABPMI &It I, WAt it € 73T & ufgerse &t 3fam gae ot | feg fdar <1 3 Aaer J fa md &
< g3 &<t afest ytvz & < U= | fon o8t €9 52 yaias €t gz Jet J1 fen yarg afesa
15, fowans yfgmr e féq ga9 7 Aaer J, fAae &t 35 fafumt yerg-fogqe &g feurfenr fapnr
J:
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nNn A W N =

(),
(@)
(@)

(iii)

(V)

(iii)
(V)

)
(iii)
(v)
(vi)

(@)

@),
()

()
()

()
(vii)
()
(@,
()
(i)

€ gaumT

nifsma 1.1
(iv), (v), (vi), (vil) M3 (viii) IHT & |
e (i) e (i) ¢ (v)e (Ve (vi)e
A =1{-3,-2,-1,0,1,2,3,4,5,6 } (i) B={1,2,3,4,5}

C={17,26,35,44,53,62,71,80} (iv) D={2,3,5}

E={T, RL,GO,N,M,E, Y} (vii F={B,E, T,R}
{x:x=3n,neNmM31<n<4)} () {x:x=2"neN M3 1<n<5)}
{x:x=5neNmM31<n<4 } (iv) {x:xfe%rfﬂﬂsw[rfagsrﬁrfuwﬁl}
{x:x=ntneNM31<n<10)}

A={1,3,5,...} @ B={0,1,2,3,4}
C={-2,-1,0,1,2} vy D={L,0,Y,A}

E = { gd=dt, MU, g, A39d, 5299 |

F={b,c,d,f, g, h,j}

& (c) (i) © (a) (iil) & (d) (iv) & (b)

nifsm 1.2

(i), (iii)
AHE (i) =W i) AHs (v) »mifie (v) Aifvs
WAHS (i) AHE i) »fH3 (iv) A (v) WAz
gt (i) &4F  Gi) IF (iv) &It

St (i) T 6. B=D,E=G

mfem™ 1.3
c (i) & (i) c (iv) & V) @ (vi) c
C
g5 (i) H9 (i) ¥ (iv) HS V) §8 (vi) 9

(v), (vii), (viil), (ix), (xi)
o, {a}) @@¢{a},{b}{ab}
O {1 L{2L{3L{L2}, {1,3},{2,3},{1,2,3} @iv) ¢
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10.
11.
12.

1

1) (-4, 6] (i) (-12,-10) (i) [0,7)

Giv) [3,4]

1 {x:xeR,-3<x<0} ) {x:x e R,6<x<12}

Gii) {x:x e R,6<x<12} v) {xe R,=23<x<5} 9. (ii)
mifsn ™ 1.4

1 XuY={1,2,3,5} i) AuB={abceio u}

(i) AUB={x:x=1,2,4,5 A Afeyr 3 € greA }
(ivi AUB={x:1<x<10,xe N} (v) AUB={1,2,3}

. ICAUB={a b c}

B
(i) {1,2,3,4,5,6} (i) {1,2,3,4,5,6,7,8} (i) {3,4,5,6,7,8}

(iv) {3,4,5,6,7,8,9,10} (v){1,2,3,4,5,6,7,8}

vi) {1,2,3,4,5,6,7,8,9,10} (vii) {3,4,5,6,7,8,9,10}
O XnY={1,3} @) AnB={a} @ {3} Gv)é¢ () o
@® {7,911} @ {11,13} (i) ¢ (v) { 11}

V) ¢ vi) {7,9,11} (vii) ¢

(viii) {7,9,11} (ix) {7,9,11} x) {7,9,11,15}
(i) B (i) C (i) D (iv) ¢

v) {2} i) {x:xfET TTmga Af™ T} 8. (i)

(i) {3,6,9,15,18,21} (i) {3,9,15,18,21} (i) {3,6,9,12,18,21}

(iv) {4,8,16,20) (v) {2,4,8,10,14,16 } (vi) {5,10,20}

(vii) {20} (vii) {4,8,12,16} (ix) {2,6,10,14}

x) {5,10,15} (xi) {2,4,6,8,12,14, 16} (xii) {5,15,20}

@ f{ac} ) {f, g} (i) {b,d }
mufona A=t @7 AT

() IBI (i) I\I (i) AT (iv) At

mfsm 1.5
i {56,7,8,9 (i {1,3,5,7,9) (iii) {7,8,9)
(iv) {5,7,9} v) {1,2,3,4)} ~i) {1,3,4,5,6,7,9}
i) {defght (@) {abc h} (i) { b, d,f, h}

iv) {b,c,d, e}
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() {x:xfea efa yfgaa Afeenr T )
() {x:x & famg yigae afamr 7 )
(i) {x:x € N3 x ffedT 3 @7 Ireq &at I )
(iv) {x:xﬁﬁﬁmmﬁm@leﬁ}
) {x:xe Nn3 x € us ya& wia I fAgsT 3 3 gamar a9t 9 AF fagsT 5 3 grareer &4t I 1)
vi) {x:xe N™3 x e ygs =aar Aftpnr 41 T )
(vi)) {x:xe NW3 x T yas we Afenr &3t T )
(vii) {x:xe NM3x=3)} (x) {x:xe NmM3x=2)}

(x) {x:xe NM3 x<7} (xi){x:xeN’H@'xS%}

A' A3 AHETg f3gHT = AT J1

i U i) A (ii)) ¢ i) ¢
nifsm 1.6
2 2.5 3. 50 4. 42
30 6. 19 7. 25,35 8. 60
Miafe 1 ’3 g2eas MisH
. Ac B, AcC,BcC, DcA, DcB, DcC

(i) go (i) g5 (i) A9 (iv) §& (v) g6
(vi) HY
. ¥5 12. Mt s Aae offa, A={1,2},B={1,3},C={2,3} S V& Aa< T7|
. 325 14. 125 15. ()52 ()30 16. 11
Mg 2.1
. x=2m3y=1 2. A xB 3T <t Afeodr 9 T

GxH={(7,5),(7,4),(7,2),(8,5),(8,4),(8,2)}
HxG={(5,7),(5,8),4,7),4,8),12,7),(2,8)}

(i) 5 Px Q= {(m, n), (m, m), (n, n), (n, m)}
(i) 79

(i) A9
AXA={(=1,-1),(=1,1),(,-1),1, 1)}

AXAxXA={(-1,-1,-1),(-1,-1,1), (-1, 1,-1), (-1, 1, 1), (1,-1,-1), (1, -1, 1), (1, 1, -1), (1, 1, 1)}
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6. A={a,b},B={xy}

8. AxB={(1,3),(1,4),(2,3),2,4)
AXxBE2= 168U AT T5 |

9. A={x,y,z}M3B={12)}

10. A={-1,0,1},Ax AT gat "7
(=1, -1), (=1, 1), (0, =1), (0, 0), (1,=1), (1, 0), (1, 1) T&I

nifsm 2.2

1. R={(1,3),(2,6),(3,9), (4, 12)}
RE YF=T Y39 = {1, 2, 3, 4}
R & AT =(3,6,9, 12}
RE Afg-yg= 439 = (1, 2,3, ..., 14}
2. R={(1,6),(2,7),(3,8))
RE Yg=e u39 = {1, 2,3}
R € AHT = {6, 7, 8}
3. R={(1,4),(1,6),(2,9),(3,4),(3,6),(5,4), (5, 6)}
4. (@ R={(x,y):y=x-2,x=5,6,7 B}
(i) R={(5,3),(6.4), (7,5}, RETYFTYEIT = {5, 6,7}, R AT = {3, 4, 5}
5. @O R = {(1,1), (1,2), (1,3), (1,4), (1,6), (2,4), (2,6), (2,2), (4,4), (6,6),
(3,3),(3,6)}
(i) RE"YF=TYII={1,2,3,4,6)
(i) RETAHT={1,2,3,4,6}
6. REYgEHE3d ={0,1,2,3,4,5) 7. R={(2,8),(3,27),(5,125),(7,343)}
ReET AT ={5,6,7,8,9, 10}
8. AT Bfig iy St fAfimr=2091 9. RE YT UIT=2
REtTAHT =Z

nifsm 2.3

1. () JYg=u39=(2,5,8,11,14, 17}, AHT= {1}
(i) I, YFTUIT=(2,4,6,8,10,12, 14}, AiHT={1,2,3,4,5,6,7}
(iii) &IT
2. () YFEU3d=R, AN = (-, 0]
(i) SHE T YFEUII = {x:-3<x<3)
THS ST HMHT = {x: 0<x <3}




W

10.

N QN o AW

0 fO)=-5 @) fM=9 @) [(3)=-1I

@ t(0)=32 (i) t(28) = % (iii) t(-10)=14 (iv) 100

(i) FMHT = (= oo, 2) (i) HMHT=[2, =) i) AHT=R

WHIHfE 2 '3 g2a® MITHTH

2.1

eH& T YI'T 439, Afen=t 6 M3 2 § 5 I gt @w3feq Aftr=t € AT J1
YI= U3T =1, e0), HIHT = [0, )

yg'e 439 = R, AT = faeana 3 feser swzfea Afimret

HIHT = Jet &t gamaHd @m3fea At fem yaa fa 0 < x < 1

(f+g)x=3x-2 8.a=2,b=-1 9. (i) &1 (i) &It (iii) &1
(f-gx=-x+4

f x+1 3
Lilx=—— xz=
g 2x-3 2

(G) It (i) sIT 11. &4t 12.  fetAMT ={3,511,13}
nifsm 3.1
. om .. 1971 ... 4m . 206m
(1) 36 (i) 7 (iii) 3 (iv) 9
(1) 39°22'30” (ii)—229°5°29” (iii) 300° (iv) 210°
2071
12m 4. 12° 36’ 5. T 6. 5:4
L 2 . o 1
@) 15 (i1) 5 (iii) 75
mifsn 3.2
3 2 1
sinx:——,cosecx=——,secx=—2,tanx=\/§,cotx:—
2 V3 V3
5 5 3 4
cosecng,cosx:——,secx:——,tanx:—Z,cotx:——

. 5
Sin X =——,C0SeC X=——,COS X =——,SeC X =——, tan x = —
5 4 5 3
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. 12 13 5 12
4, sinx=—-—,c0oseCX=——,CO08s X=—, tan x=——,cot x=——
13 13 5

12
. 5 13 12
5. smx:—,cosecx=—,cosx=——,secx:——,cotx:——
3 13 12 5
1 V3
6. — 7. 2 8. 9, —
7 V3 >
nifsm 3.3
3+1
. .
O S5 J3
mifsn™ 3.4
{ EA o 7 s EOT ot ® ez
. 3)3) 3,7’16 . 3’3’ —3,7’16
3 5_1[&”754_5_“ Z 4 7—75&1’[754-( 1)"7_7c 7z
. 6 ) 6 ’ 6 ,nE . 6 ’ 6 ’ 6 ,nE
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€1 fEa fertatfdar € fefenmmaas T 1 feo =t fea ags &9t I fa@fa feg mime aat T fa
g fagst 91

“c0os?0 BT WS IHET 1/2 3 Fu der I I AT 3T A few usT &7 3= fa 0 &t 3wt few st afo
Aae fa =7/ 79 T AT &t

s 14.2
938t 3BTy & TATST &t I

J2 fea mifimfas ffurr 31

Ad f3gw mig 397 951

Ffer 2 Afenr 7 3 5T &F T

9 yrfg3a Aferr o fAyas Afu a9t 1
s “Aftprr x e ufonsr Afeor 1 ufosT aus e fsbus I fAgs g 985 € S J1
feg fen aas 3 fa A< Jet Afterr muforn st T 37 €T ufornw 71 few et &3 qus fEa-
gn € fouus 95|

FEE “x feq mufars Afemr 3 1 ufod aEs & fedus J, faosT gn a8 © mms J | fer &t
¥< 985 a-gn € fatus g5
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3.

Jfez

()
(i)
(iii)

()

(i)

(iii)

(iv)

()

(i)

(iii)

()

()
(i)
(iii)
(iv)
)

AfeT 3 migma T; AfeenT 3 2 T (HL) |

AT fygs Afvmiet wia us 98 Aeti fiygs Aftret fae g5 (39) 1

Afepr 100 AftprT 3 &7% ITAGAT I, AftpdT 100 Afeed™ 11 7% ITAGAT I W Afepr 100 Afeprm
5 &% FTHEIT T (35) |

nifgm™ 14.3

W37 | W JES ¢

“HY | Wed JE&

fan ygs Afterr &7 =991 Us Jer I

fan ygs Aftrr & =39ar fas Jer I

“WMI” | Wed TES :

33 dy ST A%<t 9o T A<t 31

33 3 &9 At &3t &dt gt I

W37 | W JES ¢

x=2mitegE 3x° —x— 10 = 0 T 4& J|
x=3mﬁm3x2—x—10=0€"')=-|'8'3|

“feq feg-fag e 3¢ T | fadus

fea feg-fadt Afnr € I aat I fAgst WuS <9a1 & 5999 J
“g9 wet” | feaus

fea feg-fadt em3fea Afrm xSt e I 3T aT x, x + 1 3 W &It T
“feg feg fag ot e 31 feaus

9793 fe9 fea feg fag a7 <t 9 T fAnet Taust o4t I

fotus a4t 31 () fe9 €3 I8 aus o fauus : “x w3 y emafed Afrret €t Je fer yara
I, fax+y =y +x" 1 fAa=aT (i) 9 €3 a5 3 =9 T

fosasr (i) AfHfsz (i) fo<asr

niferm 14.4
fea yfgza Afumr eia 7 @ g7 J fa @rer <gar <t o I

et yfgaa AfeT 2fq I d=% Add §rer <gar ¢fd J|

for yfgsa Afunr € efa 3= &t feg Agat I fa @rer <gar efa 9= |

fam yfgaa Afamt € =9ar @ efa I et feg am=t T fa Afanr et T

Aag foan yfgsa Afuwr g7 =gar efa &t T 3+ €9 yigsa Afum efa st 1




(i1)

(iii)

@iv)

(v)

(i)

(iii)

@iv)

4. a ()
b (1)

(iii)
@iv)
(v)

(ii)
(iii)
@iv)

sors 331
Yf3usTaHa : 7ad fea Afenr x e adt T, 3T x feT e Afew a4t T
€5 : Ha9 feq Afumr iq I, 3T x & nigm AftorT T
Yf3uaaMd : 7a9 € Iyt fEa-gn & I <9 deat 75, 3T Ju=t ANT39 &4t I& |
€¥c : Aag € Jyet fea-gH § fea 3% 99 a9t deett Ts, 3T JU=T ANI3T T |
Yf3usTaHa : Had det @ng ue IuHTs 3 &4t I, 37 8T @Ag &3t a4t T
%< : Aag Jt @Fg e IunTs 3 J, 3T Qv @ng 83T T
Yf3UsTINT : Aad I U3 J fa fsaniasva fesws fam yare stz aer g 3 gAt
fr i3t femr & AW e J
€< : Agd ITE Uz &1 I fa faanieava feews fam yarg aisT Ater § 3 gAt
frwfist femr & Mg ot Aae T
few aus & fonr yame fou mae ot : “Aad x €a fanz Afvmr 3, 37 x Afterr 4 3 g T 1.
Yf3UETING : “Had x AfgmT 4 3 g0 &4t 7, 3T x Ea famg Afvwr w3t 717
€®e . “Had x AftdT 4 I I I, I+ x Aftp fEq fang Afwur 317
A9 T4 dadt e aret I, 3T TSt HarsT it I
Hod A% € 94 e Hals 3 I sfenr afder J 37 as & 3y <9 €5 Jar=dr|

Hog fan 9399w © fegee fa-ga & mieew e I&, 3T Q9 € mii3d 9g9gw J|
Agd It A3 feg A+ 393 YU3 qae J, 37 IAT YRS € A YA I% 34 B¢ J |
yfsus=aHa (ii) B¢

yf3usaHa (i) €®e

LS

mfem™ 14.5
g5 | yfggmr 3 wler 9a9 § € Fy-Jy fGent 3 deat T

g5 | feng fea yf3Gergae gt fiw a1 A Aaer 9| € feg-faat At fagst fonm ot
31 fea yfa@ergas I

A9 | "o fefesun @ milaae {9 a = b Ifr A= 3T QT Ja9 =@ mildae T Afer J1

He | viAfHaT € faw arat|

g5 | fa@fa 11 fea nmgma Afenr 3, few &t ] mufors 9

WMIHTE 14 T §2aB MIPHTH
fox feg-fAdt uamava Aftum x € 3¢ I fa 1 Ta=aHa &at T
fea feg-fadt fifst & I I fAest yaget &t I
fox feg-fadt emafed Aftnr xSt e dfaar It x> 13 &7t x< 1 J1
far feg-fadt emesfead Afvr xSt e sdt I fa 0<x < 1 T



382 dffes
2. () FEs few yarg <t fafonr 7 AgeT 3, “Ad9 €T U8 Yas #Wad Mg J, 3T | M3 MuE ©
fegrer femer d€t 9 g7 &t T
Yf3usTIHT : 799 fed U5 Yas #d | M3 MU € feser 39 9d <t 76, 3T Yds #d
WM™ AfeT &It T
(i) fE3T aus fem yarg <t fafionr A7 Faer T, “Ad9 fow feg qu I 3T ¥ mied 3 3 Aer ot 1”
€< : A9 ¥ Mied 3¢ 3 &d1 AT IF, 3T fas T TU I
Yf3usTIHT : A9 H AEd 3¢ 3 AT J7, 3T fes fE9 gu &t T
(i) €< : Ag9g g fr™ St I, 3T ¥799 At T |
Yf3usTaHa : Aad 3074 i &dt St 9, 3T 5799 It a4t T
3. () #d9d AI=d I BT W& J, 3T UASIS U3T J |
(i) #ad HiT Uer 7, 3 efea & mreraret feg garee WE<t I
(i) Hod IAT foauTfas H& =T FAI3™& JIe J, I IAT SIATEIC feg T & A J |
4. (i) IAT THI<HE ue T 799 M3 A< HAd ITTST HS HAI J |
(i) IHT A+ IEF YUI J9€ I AT M3 IS HId JHT HAT WIF IH 31T €T 'S Jaw J |
(i) e IIIIA AMTS AT T AT M3 =S Had G & »rfes I
5. ‘w3 F &3 qus MAfas a8s : 25 Afed™ 5 W3 § T Ired J |

feg g5 1
g I fagr fimfazs qgs : 25 Afyd 5 77 § @ IIeH T
feg e J1
7. nifgm™ 14.4 € YRS Afvwm | =9
mfgm 15.1
1. 3 2. 84 3. 233 4. 7 5. 6.32
6. 16 7. 323 8. 5.1 9. 157.92 10. 11.28
11. 10.34 12. 7.35
mfem™ 15.2
n+l n®-1
1. 9,9.25 2. —, 3. 16.5,74.25 4. 19,434
2 12
5. 100,29.09 6. 64,1.69 7. 107,2276 8. 27,132
9. 93,105.52,10.27
10. 5.55,43.5
mfem™ 15.3
1. B 2. Y 3. )B (i) B
4. A 5. 99



o 0 N N B

10.
11.
12.

13.
14.
15.
16.

ga®T 383

MITHTE 15 T §2aAB MITH

. 4,8 2. 6,8 3. 24,12
() 10.1, 1.99 (i) 10.2, 1.98
. 2y I <y gATfes HTH3T miI We-ule difes 7. 20,3.036
mifem™ 16.1

{HHH, HHT, HTH, THH, TTH, HTT, THT, TTT}

{(x, y):x,y=1,2,3,4,5,6}

7 {(1,1),(1,2), (1,3), ..., (1,6), (2,1), (2,2), ..., (2,6), ..., (6, 1), (6, 2), ..., (6,6)}

{HHHH, HHHT, HHTH, HTHH, THHH, HHTT, HTHT, HTTH, THHT, THTH, TTHH, HTTT,
THTT, TTHT, TTTH, TTTT}

{H1, H2, H3, H4, H5, H6, T1, T2, T3, T4, T5, T6}

{H1, H2, H3, H4, H5, H6, T}

{XB,, XB,, XG,, XG,,YB,,YG,, YG,, YG,}

{R1,R2,R3,R4,R5,R6, W1, W2, W3, W4, W5, W6, B1, B2, B3, B4, B5, B6}

(i) {BB, BG,GB, GG} (i) {0, 1,2}

{RW, WR, WW}

{HH, HT, T1, T2, T3, T4, T5, T6}

{DDD, DDN, DND, NDD, DNN, NDN, NND, NNN}

{T,H1,H3, H5, H21, H22, H23, H24, H25, H26, H41, H42, H43, H44, H45, H46, H61, H62, H63, H64,
H65, H66}

{(1,2),(1,3),(1,4), (2,1),(2,3),(2,4), (3,1), (3,2), (3.4), (4,1), (4,2), (4,3)}

{1HH, 1HT, 1TH, ITT, 2H, 2T, 3HH, 3HT, 3TH, 3TT, 4H, 4T, 5SHH, SHT, 5TH, 5TT, 6H, 6T}

{TR, TR, TB , TB,, TB,, H1, H2, H3, H4, HS, H6}

{6, (1,6), (2,6), (3,6), (4,6), (5,6), (1,1,6), (1,2,6), ..., (1,5,6), (2,1,6), (2,2,6), ..., (2,5,6), ..., (5,1,6),
(5,2,6), ... }

nmifg™ 16.2

. &4t

i {1,2,3,4,5,6} ) o (i) {3,6})  (v) {1,2,3} (v) {6}

(vi) {3,4,5,6},AUB={1,2,3,4,56}, ArB=0¢,BuC={3,6},EnF= {6}, DNE=¢,
A-C={1245},D-E={123},ENnF =¢, F = {1, 2}
A={(3,6),(4,5),(5,4),(6,3),(4,6),(5.5),(6,4),(5,6), (6,5), (6,6)}
B={(1,2),(2,2),(3,2),(4.2),(5,2),(6,2),(2,1),(2,3),(2,4), (2,5), (2,6)}
C={(3,6),(6,3),(5,4),(4,5),(6,6)}

A %3 B, B M3 C UIAUd fa=a® 75 |
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4. @)
5.0
(i)
(iii)
(iv)
)

AMI B, AM3 C;BM3 C;CHI D (i) AM3 C (iii) BM3 D

“ufe-uie € ug YUz dev, w3 “ud-ule € fIg yuzs =

“JeT U YUz &7 9, “31F fEd ue YUz g w3 “wfé-ule € ue yu3z dev’

“Tg 3 Fu € 93 yuz I’ 3 “sta € 93 yuz 3=

“Sta fea ue yuz 37’ w3 “BiF € ue YUz 37’

“Sta féa 93 yuz Jev”’ w3 “sig € 93 yuz dev’ »3 “sia 35 93 yuz 3=

o foust | €73 €3 yms € €739 v wea=t 2t § Faehit g5 |

6. A=

(i)

(ii)

(iv)

)

(vi)

(vii)

(viii)

{2,1),(2,2),(2,3),(24), (2,5), (2,6), (4,1), (4,2), (4,3), (4,4), (4,5), (4,6), (6,1),(6,2),(6,3),(6,4),

(6.,5), (6,6)}

{(1,1),(1,2),(1,3), (14, (1,5),(1,6), (3,1), (3,2), (3,3), (3,4), (3,5), (3,6), (5,1), (5.2), (5,3), (5.4),

(5.5),(5,6)}

{(1,1),(1,2),(1,3),(1,4), (2,1),(2,2),(2,3),(3,1), (3,2), (4,1) }

A= {(1,1),(1,2), (1,3), (1,4), (1,5), (1,6), (3,1), (3,2), (3,3), (3,4), (3,5), (3,6), (5,1), (5,2), (5,3),
(5,4),(5,5),(5,6)} =B

B'={(2,1),(2,2),(2,3),(24),(2)5),(2,6), (4,1),(4.2), (4.3), (4,4), (4.5), (4,6), (6,1), (6,2), (6.,3), (6,4),
(6,5),(6,6)} =A

AUB ={(1,1),(1,2),(1,3),(1,4),(1,5),(1,6), (3,1), (3,2),(3.3), (3.4), (3,5), (3,6), (5.1),(5.2), (5,3),
54, (5,5),(5,6), (2,1),(2,2), (2,3), (2,5), (2,6), (4,1), (4,2), (4.3), (4,4), (4,5), (4,6), (6,1),
(6.2),(6,3),(6:4),(6,5),(6,6)} =S

AnB=¢
A-C={(2:4),(2.5),(2,6), (4,2), (4.,3), (4.4), (4,5), (4,6), (6,1), (6,2), (6,3), (6,4), (6,5), (6,6)}

BuUC={(1,1),(1,2),(1,3), (1,4),(1,5),(1,6), (2,1),(2,2), (2,3),(3,1),(3,2), (3.3), (3.4), (3,5), (3.6),
4.1),5,1),(5,2), (5,3), (5,4), (5,5), (5,6)}

BnC={(1,1),(1,2),(1,3),(1,4),(3,1),(3,2)}
ANB' NnC' ={(24),(2,5),(2,6),(4,2),(4,3),(4,4),(4,5),(4,6), (6,1),(6,2),(6,3), (6,4), (6,5), (6,6)}

7. () A (i) A9 (i) A9 (iv) §8 (v) & (vi) ¥&

nifs™H 16.3

L. @I (T (T (dad (e)ad 2. %

w

wn

N |
(I)E (II)E 6.

T N AR I g |
(1) ) (i) 3 (iii) 5 iv) 0 (v) . (a)52 (b) 5 (©) 3 )

6
3
5



12.

13.

15.

18.

21.

o

T400%9, T1.50%9, T 1.00Tat, %3507, T 6.00TsF

o 1 . 1 . 3
P % 4.00 fAgam) =E,P(? 1.50 fAg=T) =Z,P(? 1.00 fAz=T) =3

P (% 3.50 I&1) =i, P (% 6.00 T7&1) =%

1.3 1 7 1 1 3 1 7
(1) 9 (i1) g (ii1) ) (iv) g (V) g (vi) g (vii) 9 (viii) 9 (ix) g

9 L6 .7 1

1 10. (1)13 (n)13 11. 35760

() &dt, fa@fa P(ANB), P(A) W3 P(B) 3 &< A7 §A¢ 99799 d=r gdter J1 (i) It
7 4

i)— (i) 0.5 (iii)0.15 -

@) s (i1) (iii) 14. s

S . . ..

(1)§ (i) 3 16. &dt 17. (i) 0.58 (ii) 0.52 (iii) 0.74

0.6 19. 055 20. 0.65

.19 Lo 11 2
(1) % (1) % (i11) E

MITHTE 16 T §SAB MIPHTH

(i)z(o)—gz ai)l—z—g 2. —BCS%TCI

(5 Gy G @ ) fjﬂ% © ]909090“0%:;
@5 G5 . 2

(1)0.88 (i) 0.12 (i) 0.19 (iv)0.34 8. %

0% )3 0.

385



Udd U'S AHdTST

nifgnfe 3

3.6 A1 (sine) M3 IATELS (cosine) HSTT € A M3 GUsT € 39 HI® =3

& &8 fa ABC € f3gm J 13 A 3 AT 9= J fg gA=r AB W3
AC T gfemt g, 7 0° M3 180° € fesag Afaz J1ds BM3 C §
St fem yarg ufggmiag ot awfer 1 fg C, A W3 B Tt Aady
FART & UG ¢, a M3 b I femazs JisT A<ar | (|4 937 3.15)

YHe 1 : (Sine H39) fan =t f3gw ST, ga<t Aoy d=f &
AElsT € AN Mgur3t et 9& | 9= fiq f3gn fee

A

sin A _sinB sinC B 2 C

a b ¢ fF393.15

- . r . v

A3 : ¥o &8 fa 939 3.16()) M3 (i) f<g wene Sgt f3gat f&9° g9 AABC JI

B B
C
a h e A a
E ]
A b C D A b D C
@) (i1)
feg93.16

fiag B 3 fivg B9 1 fidfenr 3fenr 9, fagsm gam ACE fdg D 3 fimer 91 [() RE AC S e B9 3
e st Tufenr farr T1) 939 3.16(1) f&9 mide f3gw ABD 3 7§ yuz der 7

. h
sinA=—, gI@h=csinA (D)
C

- h .
W3 sin (180°-C) = — = h=asinC (2)
(1) M3 (2) 3, 7§ YUz ger 3 :-



Ydq UTs ANGTET 387

. ) sinA sinC
csinA=asinC, < = (3)
a ¢

few yarg, mwt fig a9 Aae ot fa
sinA_sinB
a b
(3) M3 (4) 3 Mt YU3 dae TT :—

“4)

sinA sinB sinC

a b c

939 3.16(ii) € f3g7 ABC &€t mitage (3) M3 (4) fem yag yuz d€ 95|
YN 2 : (GATETS B39) Hes &8 fa A, B W3 C fan f3g7 ABC € d< 98 M3 q, b M3 ¢ FHET dST A,
B %3 C ¥t HTINS S8BT gaT=T gt et 75 3T

a’ =b*+c* —2bccos A

b*=c*+a’*-2cacosB

c¢* =a*+b*—2abcosC

Ags : H& &€ fa ABC 9339 3.17(i) W3 (i) <9 &3 mign &g fagm 91

B
B
c
a h y, h a
. [ ]
A (ib C D A (1) D » C

fdse 3.17
939 3.17 (i) © 7T fEe wHt YUz J9e If —
BC? = BD? + DC? = BD? + (AC — AD)?
=BD? + AD? + AC? - 2AC.AD
= AB? + AC? —2AC ABcosA
L a?=b* + ¢* — 2bc cosA
fen yag wirt YUz 99 Aae If fa

2

b2 =c +a2 —2ca cosB

w3 ¢? = a® +b* —2ab cosC

fem yarg &t mitaae, wirt 939 3.17(i) BEt <t YUz a9 mae If, fAg C »ifua d< J1
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AT et § UIT J9aT d= 3T AATEIS HIIT € HI® H3d J67 €3 AT 39 I ¢
2 2 2
b"+c" -a
COSA=———
2bc
cz+az—b2
cos B =
2ac
2 2 2
a +b” -c
cos C=
2ab

Gewae 25 : f3gA ABC &9 fiu a9 fa :

t RN

2 b+
_C_

B-C b-c A
cot;

c
C-A a B
tan ——= cot —
2 c+a 2
A-B a-b C
=—— cot —

2 a+b 2

tan

d% : Aets B39 3, Ag yu3 der 9 —
a b c

= =k (s 39)

sinA sinB sinC

b—c k(sinB-sinC)
b+c¢ k(sinB+sinC)

B+C . B-C
Sin 2

B+C B-C
COS 2

2cos

2sin

=cot (B+C) tan (B;C)

B-C b-c

t
few met, an — e

cot é
2

few yarg, »Ht 39 3t § g a9 Aae of | fegst s3ifadt § dutig € wigu™a (Napier’s
Analogies) € gu f&g arfenr ater 31



Ydq U's ANGTET 389
Gewae 26 : fan f3ga ABC f<9 fifw aq fa,
asin (B—-C)+bsin (C—A)+csin(A-B)=0der JI
3% : vt Aree of fx
asin (B - C)=a [sin B cos C — cos B sin C] (1)

sinA sinB sinC

- a b c

fem et sin A = ak, sin B = bk, sin C = ck
(1) f<9, sin B M3 sin C € H® ¥ & IAEIE H3T € YT gdf, Arg YUz der J :—

2,2 2 2, .2 42
asin (B—C)=a| bk az+b”—c” —ck ¢"ta”-b"
2ab 2ac

=£(a2+b2—cz—c2—a2+b2)
2
=k(b® —c?)

fed yama b sin (C - A) =k (2 - a?)

M3 ¢ sin (A -B) =k (@ - D)

few »et L.H.S. =k -+ -a?+a*-b)

=0=RH.S.

Geuge 27 : Gt hewt far ust s PQ e frus fdg PEe g fig A I Qe = ac 45° T
w3 fdg B, 3 €9= d= 60° J, fiE B fig A 3 gt ¢ '3 Afez J, fAn & 3um AB € % Wi IfemT
J, fAgsT AQ € &% 30° &7 d< g8t I ffT a3 g =1 (/3 -1) 7|

d% : {939 3.18 3, g YUz § :—

ZPAQ = 45°, ZBAQ = 30°, ZPBH = 60°

fega3.18

e 3 ZAPQ =45° /BPH =30°, fAW 3 ZAPB =15°
g2g7dr /ZPAB =15°= ZABP =150°



390 arfes
f3gw APQ, 3 W& YUz ger I —
AP? = 12 + b2 = 2k* (fa€)
A AP=\2h .
A ABP, &9 ATEl® H39 €7 YUdT J96 '3 AE YyuI ger J i—

AB AP d J2h

= =
sin15° sin150°  sinl15° sin150°
d:\/ihsin15°
sin 30°

= h(\3-1) (fa€)

Gewae 28 : fea famat e o fan f3gw € miag € gt ABC & gAT AC € Ho-fdg M 3 Afe=
J fAr f&9 BC=7m, CA=8m W3 AB =9m J | fev famat e & fdg B 3 15° €7 d< #3faz qgger J1
forst € 49 <t @uret fsgufas a9
% : 939319 FAE YU §erd: AB=9=¢,BC=Tm=a™3
AC=8m=0b.

5

fg393.19

M gaT AC & Wo-fdg J far '3 €9met 1 (s ®©) & famst e d9r Afgz 91 g9, feo <t fosr
farur 3 fa famst & &9 fdg B 3 d< 0 (s 38) #i3faz qger I fAgs™ 15° € g9v99 J|
AABC &9 dnmels §39 €7 Y&dT 996 '3 AS YUz ger ¢

a’+b*—c? _49+64-81_2

2ab 2xXTx8 7 @
fem ya, A BMC <9 anets 39 €F Yy&dr 996 '3 Ag YU ger J —

cosC=

BM?=BC?+ CM? -2 BC x CM cos C
fe“'@rCM=;_cA=4,ﬁ@ﬁM§?|TAC T "o fdg J1
fem gt (1) & y&ar d9s 3 A& YUz ger J -

49+16—2x7x4x%
49

BM?



H

few €, ABMP fAn e fdg M '3 d< A< J, i YUz der 9 -

Cy

Cy

BM =7
PM &

tanf=——=—
BM 7

h
S=an(59=2-3 (a®)

h=172-3)m

mfemm 3.5

fom f3ga ABC f&9, Adda =18, b =24 M3 ¢ =30 T 1 3T YUI &9 :—

1. cos A, cos B, cos C
2. sinA,sin B, sinC
fan f3gw ABC ®et fAu a3 fa -
A-B
cos
a+b 2
3. c .
sin —
2
. (A-B
sin
a-b 2
4. c C
cos —
B-C b-c A
5. sin = cos—
a
6. a(cosC-ccosB)=b>-¢2
A
7. a(cosC—cosB)=2(b—c)coszz
sin(B—C) b —¢?
8 GnB+C) &
B-C
9. (b+c)cos =acos
10.  acos A+bcosB+ccosC =2asin BsinC
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cosA+cosB +cosC a2+b2+c2

a b c 2abc

12. B*=cH)cotA+(?—-a?)cotB+ (@ -b)cotC=0

p2_ 2 2 _ 2 2 52
13. 3 sin 2A + 3 sin 2B +
a b c

14. & ygrst Be<t qur 3 15° d< s @<t 71 fon yorst 3 fEq wduz ws<t our 3 fifur usT g1
yorst & T % 351t & gat 3 it 3 Afas faw fig 3, Tduz € fyg & €97 d< 60° J1
ez & QU uzT a9 | €37 35V2m)

15. € 7o e gt mt 3 fawr degara 3 98« 9 | fEa 24 km/h €t 978 3 N45°E T I8er I mi3
A" 32 km/h & 978 3 S75°E <t ferr @5 I9%er 13 Wie € gvie €5 AuTHT € gat U3t J4 |

(€739 86.4 f »it. (Barsam)

16. € €43 A 3 B fEq &<t € feq It u vz 98 | 3€t € »ieq fan fdg C 3 eduz A W3 B &bt
TIAT FHETT 250HT. w3 300 HE. T& | AFd d< C, 45° € ¥97H9 J 3T Tdu3T € feust gdt usT g |
(V2 =1.44 T YGdr 99) (€37 215.5Ht)

sin2C =0

2

mftmfe 5
5.7 f&x fimfaz Aftpyr & =9aH®

-~

AT U's YRS € US 108-109 3 fvrfazs yat 3 Hefuz e- w3t mitadet € I8 d9s & 9997 a4 9d J7 |
feg »irt et gu ST fenaa fam fimfaa Ffvmr € =9any® U3 J95 &y fedt & mine Jafdr | wirt
feg Gergae It fend AUEe aiar|
@eeE 12 : -7 - 24/ T TIIHS U3T I3 |
% Hs 9 &, x+iy=v—7-24i JI
It (x+iy) =-7-24i
At X2— y* + 2xyi = -7 — 24i

Tsfed W3 TsUfsd g9 & 9999 due '3, YUz ger 9 -

X —yr =T (1)
2xy = 24
BTIHS
(2 +y) = (2 =) + Quy) T,
=49+ 576
=625
few wet X2+ y*=25 ©))

(HMI Q) F R =9mMIT y> = 16 U3 ger J|



Hr x=+3M3y=+4

fa@fa geaes xy faeava 3, fem et 7é YUz der 4,
x=3,y=—4dr,x=-3,y=4

fem &t -7 - 24/ T TIIHB 3 4 i M3 -3 +4i J|

nifen™ 5.4
J& fautt Fftmret @7 Tgas u3T &9 ¢
1. -15-8i (€739 1-4i, -1 + 4i)
2. -8-6i €391 -3i, -1 + 3i)
L2l N2-1
3. 1-i ®&S9|T\ 5, TNV 2 D
GEEE) +L¢Lij
4. —I (S —\/5 \/5 )
o +L+LJ
5. i (S —\/5—\/5 )
241 W21
6. 1+i €T |5 T )

nifumfe 9
9.7 MHAIHI G.P. M3 GRer 8
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a, ar, art, ar, ... € Y&9 S G.P. & M1 (infinite) G.P. afos™8<t I1 <, € Atz GP. € Az =
H3d U3 d35 Bet, Mt € §egae 3 §g a9€ o7 I W@ J&T GP, '3 fewg 99 :

J&T GP. 3 fegg a9 :

-2 3
3 S
fae-fAe n 37 Jer AeT I, W@ Sye T fa (_J o ot fesgrg afder J1
3
n 1 5 10 20
0.1316872428 0.01734152992 0.00030072866

( ) 0.6667

W
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WAt fue I7 fa fAae-fAe n ST Jer AT g (gj frgg € J9 d% der After J1 aifest gu 9wt
n

NN 6 VI 2
WWWH?”MWUWU,BT(EJ TEt geT I AeT J | g4 Heet fe9, AT new,(gj -0

Jer J| fere a3t <3 vt u3T gde If fa mdg et eT Az S_ =3 J|
g, 8 GP. q, ar, ar, ..., BT H9d AIS MEUTS r € U& (Higd3ava) | 3 &7 3, 3T

n

—a(l-r") a _ar
" (1-7r) 1—-r 1-vr
ferAfagt ff9, A€ n - o, 5 07, fa@fa il < 1 T1

few met Sneli
—-r

Haz gu feg nitfig uer € Az & S_ A7 S 3 fafumr wier 9

few yag g s=—¢_ yuzg der J1
1-r
Gegge € 39 3,
1+—+L2+—3+ -
® 2 2 -1
2

1
(ll) 1——+—2——3+...= =
— 1
2 7 2 1—(1J L+

nifsnia 9.4

J& fosdhd™ G.P. 33t @ WHHI ueT @ A3 U3T d4 ¢

1. 1, ;—;— €379 1.5) 2. 6,1.2,.24, ... €39 7.5)
20 80 . 35 _ 3 .-
5, T €39 3) 4, e (@?—JS )

1 1 1
5. fig a9 fa 32 x 34 x 38.. =331
6. ie B fax=1+a+a@+. . MIy=1+b+b*+. ff8lad<1 M3 Ibl<1T fFuaqfa

Xy

252 -
l+ab+ab*+ .= x+y—1
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nifanife 10

10.6 € Ju=t et e fig 3 Bwe @t quret € ufgee &f mlaee
He &8 fa € Jedhnt qur=t | »3 [, € milaee Jot fadt I :—
Ax+By+C =0 (1)

w3 Ax+By+C, =0 (2)

MHTaasT (1) M3 (2) 3, WAt J&t f&dt Alads g7 Aae If -
Ax+By+C +k(Ax+Byy+Cy) =0 3)

g k fea mg® I, fARd wed (parameter) faor AT T1 &k € fan <t H® &t mildees (3) 98 x M
y €t ufost w3 &t mitage J1 fer e, feu quet € feq ufsea & fasgfuzs et J1k € fan &t 0
& & o few ufserg € feq yw Heg & YUz &3 7 AaeT J1 k € fon W8 § 99 Ha3t gt usT ait3r
A7 AoeT J1
@ergae 20 : OF Jyr Tt mitads UsT A9, fAUST y T T AT T MI x— Ty +5=0MI 3x+y-7=0
& are fdg f&9 Jwet I
3% : &3t Jet quet € ae fig 9 Bwe =8t Jur &t milage J& gu &t I=at -
x=Ty+5+k Bx+y-7)=0
Fe, (1+3k)x+G*k-7)y+5-Tk=0 (1)
Hog feg JyT y — UaT €@ A9 3, 3T y ©F ISt fASd J=ar|
I, k-7=07, fAr k=7 yuz ger J|
ke fem ¥& & mitaee (1) f&9 fous '3, d YUz der 9 -
2x-44=0, F= x-2 =0, fAcst A< mitaes T

mfgm 10.4
1. ©n 3y €t milage u3T 99, fAust U=t 3x+ 4y =73 x—y +2=0¢ Je fig &9 Swet I M3
et % 5 J1 €39 35x—- Ty + 18 =0)
2. R x4+2y-3=0mMI4x-y+7=0% e fig T Jwes T8 G7 Iy & mitgae u3T a9,
fAgst 3uT 5x + 4y — 20 =0 € AMI3T J| €37 15x + 12y - 7= 0)
3. YR 2 +3y-4=0mM3 x-5y=7% e fig 9 Swe =& 7 Iy & milage U3 a9
fAAe x 73T ¥ - 4 @ 9999 J| (839 10x + 93y + 40 = 0)

4. Jg=T 5x—3y=1M3 2x + 3y - 23 =0 T fig T9 Bwe =3t 3y & miade U3 39 fagst
U 5x-3y-1=0'3 8T JI
(8"39 63x + 105y — 781 = 0)
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10.7 H® fdg €t gest

fsgen »ig gat &F feq yest € gy {9, fdgnt © fea y
HY € Har3 fEa milaee &, fdent € myo & fea ala
fsgen »ig du3t i< few yaa & a fa g famrfiist are
fast 528 &gr <, Ae® d13T 7 Aaer J | fEq feg-faor
Jut39s I faw fE9 52 gat & ggnir3t Uet € AHT3T IES
fesT Ater I w3 & fig & < fig 3 et g9 fosr o i X
Arer 9| fen 3gt € guisde § It ©f gEst afde 95| i

3% € 999 fde © fsoen #ig gat € fen gest €
3oz g8 AE g5 | fdgut € ygre w3 5= fogen A
wart & fegar Adu g I '3, wit fseew Wi gt &~ O ) M
s<t du3t @ yet &9 fEqa femsa=Ha mifrmT v 39 1021
oS a9 Aae T

feg Sue wet fq gat &t a gest € 3fo3 3% © fEa fiy € fagen »ia fan 37+ gese 75,
»g g3 OX W3 OY € /iy <9 f&q fdg P (v, y) 361 s 86 fa O'X’ M3 0'Y @H=g OX M3
OY € N33 &< U9 75, fAg O’ 5= y& fig J1 s &€ fa yare gat € fig &9 O € fogem niw
(h k) TS, TTOL=hMI LO =k T & It OM = x M3 MP = y J| (25 939 10.21) |

He 88 fdaOM =x M3 MP=y gHee, 5= Uar OX M3 oY ermufdefdgpegn
W3 dfe 351 {939 10.21 F, feg AIw3T &% oy A AaeT J fa,

OM=OL+LM, <, x=h+x
M3  MP=MM' +MP, <, y=k+y
fem et x=x"+hy=y +k
feg It H39 uae W3 &< fagew #iat f&9 Ady Tan e 75 |
@egae 21 fig (3, - 4) € &= fogew »id U™ a9, Aa9 ¥ fdg & (1, 2) 3 geat g9 &3 Afer

~

P, ) (¢, )}

EN

JI
I s yg fdg S faaemrid =1 "3 k=2 T5 w3 fdg € oSt fsgem Mg x =33 y=-4
T5|
yae fsaem oat (x, y) M3 &= fagen wiat (v, y') € fegarg guisde Adu I3 fay 95 -
x=x"+h ge x =x-h
M3 y=y +k g Vv =y-k
Wt § g% '3, Ad YUz e J
X¥=3-1=2mM3y =—-4-2=-6
fen et 5=t yu3t fT9 fde (3, - 4) © fagem »id (2, - 6) T& |
@eeE 22 FIS YT 2x — 3y + 5 = 0, € JUI3fa3 Mildde U3T J9, AAd UdT € €& IO HE
fa—e'(zs -1) 3 gE8t a9 f&3T Ater J|
38 : Yo &8 fa fEa fig P € fogen wid (v, y) 3% f59en #ia gat {89 (v, y)f“e'?"&?’&'ﬂ"?
I5, A fa y& fdg h =3, k= -1  Aer J| fen &2, wift qUISTE §3a7 & x=x' + 33 y=y"-1

EW%H%HWWIWWET%BTUETHW%HWHWEWW? )
Yz ger J -

2 +3)-3(/ -1 +5=0



At 2x' =3y +14=0
fem @et, 3t yo=t <9, 7ew Jur & mitdds 20— 3y + 14 =0 T
mfgm™ 10.5
1. Jo &3 &5 g nfaat i, ffot © &2 fagen #ia U™ &9, 799 Uat @ T e8! a9t 1
fag & fde (-3, -2) 3 T8t g9 fesT AT 9—
@ a,n €334, i (0,1 €393, 3)
i) (5,00 (€T ,2) vy 1,-2 (@392, 0)
V) (3.-5 (§396,-3)
2. uyIrqdfauys fag d fie (1, 1) '3 se8< '3 Josmt milaget &t § Aehit 75|
(i) xX+xy-3y’—y+2=0 &3F -3y’ +xy +3x—6y+1=0)

@) xy-y —x+y=0 €39 xy-?=0)
(i) xy—x—y+1=0 €397 xy=0)
fore 13

13.5 9% W3 Wl M3 BWITSAT eB&T Pt it

VoS =

de< € 9997 dds 3 Ufost, vt €2 e8&T € Y3 »3 fengg one dT, feust & Are-ug'e doe ot
W3 fegst @ I I98Q II'E g IT|

f&a vors afen sifegag f&8a=a »fesd (Leonhard Euler) (1707-1783) & HigwT ¢ & A7
veTe &3t famer W& 2 w3 3 € fegar Afazs 31 feg Afunm Wanuans €8s § ufgerfas ags wet
Gutiait § w3 fem & f (x) = ¢, x € R ¥ U fI9 Ufgefaz a1z Afer J1 few & Y3 R T w2 femg
TETIHS THSfed At BT AHT J1 9% W3 Wal 886, I y = ¢ € d'e fu39 13.11 e 63
MEHT Jer J

»
»

_/

graph of y = ¢’

fegg13.11
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few yarg, Bwaredt e85 fARg log, R+—>R€a'uf€—u'e—dﬁrfewwamogx y grat fagr ater
Uﬂqdwaq&ﬂqdey—xaeﬁsﬁr@ngw fﬂwwmmﬂf&w—@@ma
w3 fer e fergg R 1 BWIEdt @85 y = log, x T WY 939 13.12 &9 wantfen Ifenr 3

Y

A

ey

graph of y = logx

fg3913.12
?E;ﬂ?lir%e;:l,?;sfﬁumse’rmhvﬁﬂae Hefuz féq mms3T e Qudiar age
xX—> x
gt, fagsT few yaa 4,
1 * o
< ¢ S l+(-2)hfegg@fEaxset ig I [-1, 1] ~ {0}
1+|x| X

X
v — . 6—1 EN
6 : g g9 fa lim =131
x—0 X
Ags : €°3 &3t w3t T QuTiar g9 3, A YUz deT T —
1 < e -1
1+|x| X

< 1+1x(e-2), vxe [-1, 1] ~ {0}, [-1, 1] - {0} ¥ TT fEx x BEt HY T |

fim —— -1 1 _
BB TS0 11 [ T lim[x[ 140

mI limo[1+(e—2)|xu:1+(e—2)1irr(1)|x|:1+(e—2)021
fem =&t Fsfes yiw gt g yruz ger 9 —

.oet—1
lim
x—0 X

=1

log,(1+x
ynw 7 : fig &9 fg lim log.d+») _,

x—0 X
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log (1+x -~ .
AgS : i 3§ fa, %=)’UE"’,
log,(1+x)=xy

= 1l+x=e"

.oev -1
= lim

xy—0 xy

l)cil)%)’:l (fa@fax 503 xy > 0 yuz ger 9)

xy
:>1imy=1[f3(@'f3(lime 1=1J

x—0 xy—0 xy
1
x—0 X
e3x _
€ege 5 : WBTIT a9 lim
X x
3% : g YUz 9,
3x 3x
-1 -1
imé— = lim&—1.3
x—0 X 3x—0 3_x
e’ .-
=3| lim , fHE y =3x
y—0 y
=3.1=3

X 1 :
—lim&— —im 22 —11=0
x—0 X x—0 X
. - . log x
€egde 7 : yBiaS a9 133;%

T8 : x=1+hdGIF y 51=h—0 JIfem &t

-1 x—1 h—0 h x—0 X

lim 198 * _ i, log A+ h) =1(1%r§‘1%r limwzlfrlj



400

nifsH 13.2

Jo feyg Avet € ¥% d, Add Qs &€t Je 9 :

1.

. e4x _1
Iim

x—0 X

. et -¢€’
lim

x—5 x_5
. e -¢’
lim

x—3 x_3
li log,(1+2x)
x—0 X

€394
€37 )
€37 )

€39 2)

) 82+x _ €2
2. lim
x—0 X
4. lim !
x—0 X
6. lim¢ D
x>0 ]—cosx
~log(1+x°
8. llmL

.3
=0 sIn” x
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BE A STUDENT OF STUDENTS

A teacher who establishes rapport with the taught, becomes
one with them, learns more from them than he teaches them.
He who learns nothing from his disciples is, in my opinion,
worthless. Whenever I talk with someone I learn from him. I
take from him more than I give him. In this way, a true
teacher regards himself as a student of his students. If you
will teach your pupils with this attitude, you will benefit
much from them.

Talk to Khadi Vidyalaya Students, Sevagram
Harijan Seva, 15 February 1942 (CW 75, p. 269)

USE ALL RESOURCES TO BE CONSTRUCTIVE AND CREATIVE

What we need is educationists with originality, fired with true
zeal, who will think out from day to day what they are going to
teach their pupils. The teacher cannot get this knowledge
through musty volumes. He has to use his own faculties of
observation and thinking and impart his knowledge to the
children through his lips, with the help of a craft. This means
a revolution in the method of teaching, a revolution in the
teachers' outlook. Up till now you have been guided by
inspector's reports. You wanted to do what the inspector
might like, so that you might get more money yet for your
institutions or higher salaries for yourselves. But the new
teacher will not care for all that. He will say, '1 have done my
duty to my pupil if | have made him a better man and in doing

so I have used all my resources. That is enough for me'.
\\\ Harijan, 18 February 1939 (CW 68, pp. 37475)///




